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Question Number : 1 Question Id : 9679471213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'HPACE' is a jumbled form of a meaningful word, of which every letter has been assigned a number: HPACE-41352. Choose the option which
gives the correct order of the letters as indicated by the numbers to form words.

Options :

1. % 34512
2. % 21354
3.9 12354
4. % 53124

Question Number : 1 Question Id : 9679471213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

'HPACE' U 31quf S1eq &1 3oqafeyd =0 g, oI &R 3{eR &1 U U1 &1 T3 §: HPACE-41352 | 3% fdded o1 7= &3 off Xeq) Bl
S & fTT Teareil gRT =TT 7T 31&R1 1 F! 64 &ell 5 |

Options :

1. % 34512

2. % 21354

3. ¥ 12354

4. % 53124

Question Number : 2 Question Id : 9679471214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The letters of a word are disorderly arranged as 'TOCBLROC'. If re-arranged in the correct order, the name of a vegetable is formed. What is the
last letter of the word so formed?

Options :
1. * R
2.% L
3.9 1
4. % C

Question Number : 2 Question Id : 9679471214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS WG & 3R] BT IR R I TOCBLROC' & =0 H Hafyd a1 a1 | afe 9t A § YAadafyd fosan o, df T Feoh! &1
T ST ¢ | 39 UPR S Xeg BT 3T 18R B 91 52

Options :

1. % R

2. % L

3.4 1

4.% C

Question Number : 3 Question Id : 9679471215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Given here is a list of four words which are in a certain sequence. Choose the option which will continue the sequence:
Africa, Cabbage, Gelatine, Necklaces,?

Options :

1. # Establish

2. % Liability

3. ¥ Especially

4, % Fantastic

Question Number : 3 Question Id : 9679471215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tg1 IR Yec] B! TH Tl &1 712 § o U T2 55w 7 § | 98 fadhen g Sl Sehd oY I3

Africa, Cabbage, Gelatine, Necklaces,?
Options :

1. # Establish

2. # Liability

3. ¥ Especially

4. % Fantastic

Question Number : 4 Question Id : 9679471216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below is a list of four words which are supposed to be formed from the letters of the term 'PRECISE'. Point the one which cannot be
formed using the letters of the given term.

Options :
1. # RISE
2. ¥ RESET
3. ¥ PRICE
4. ¥ PIECE



Question Number : 4 Question Id : 9679471216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TR Wec] Pt U Gl Y 1S § S 'PRECISE' UG & 3R] I §91 aTal & | I eg 1 SR1d B3 Sl fAT T U & 31eR} BT SUURT Hah o
ST S g1 B |

Options :

1. % RISE

2. ¥ RESET

3. % PRICE

4. % PIECE

Question Number : 5 Question Id : 9679471217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ® FKUJ
2. ¥ LQAO
3. * DISH
4. % AFPE

Question Number : 5 Question Id : 9679471217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e et & §, & U RfEd a8 T g € | g1, Ueh [Ashed 3/ ofiF &t aRE 718 8| S fadhed o1 7= &3 il 3170 ¥ 3@ B |
Options :

1. % FKUJ

2. ¥ LQAO

3. % DISH

4. % AFPE




Question Number : 6 Question Id : 9679471218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % B.Tech : 4 years
2. % M.Tech : 1 year
3. ¥ MBA : 2 years
4. % B.Com : 3 years

Question Number : 6 Question Id : 9679471218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, o Td i3 dRih ¥ T8 § | gTallich, T [ddhed o i $I TRE -Tal 6| 3% fadhed HI Ia B ofl 30 J 3T ¢ |
Options :

1. % B.Tech: 4 d¥

2. ¢ M.Tech : 1 T§

3.% MBA: 239

4. % B.Com:3d¥

Question Number : 7 Question Id : 9679471219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the odd letter cluster:
ACIU, BDJV, GIOA, NPVZ

Options :

1. % ACIU
2. % BDIJV
3. % GIOA
4. ¥ NPVZ



Question Number : 7 Question Id : 9679471219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faoT 3&R THg A1d DY:
ACIU, BDJV, GIOA, NPVZ

Options :

1. % ACIU
2. % BDJV
3. % GIOA
4. ¥ NPVZ

Question Number : 8 Question Id : 9679471220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ LMNO : QHSI
2. % UVWX : ZQBS
3. ¥ PQRS : ULWN
4. % ABCD : FWHY

Question Number : 8 Question Id : 9679471220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fywent & §, F t AfEd a8 T gHH || gTales, T fawed 3/ ofiF &t aRe 718t 8| S fadhed &7 T &3 il 3177 ¥ 3@ 3|
Options :

1. ¥ LMNO : QHSI

2. % UVWX : ZQBS

3. % PQRS : ULWN

4. ¥ ABCD : FWHY



Question Number : 9 Question Id : 9679471221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the four options choose the word which has the same relationship as the following:
WeChat, WhatsApp, Hike

Options :

1. ¥ YOUTUBE
2. ¥ GMAIL

3. ¥ TELEGRAM
4. ¥ REDIFF

Question Number : 9 Question Id : 9679471221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fadmedl T ¥ 39 Xeq T I B o] HRRad o okl 99 96 6:
dide, Iy, B8 S

Options :

1. % geE

2. % oA

3. ¢ Ca

4. % ASH

Question Number : 10 Question Id : 9679471222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
D:P:E:?

Options :

1. % Z

2. %]

3. 9Y

4. % T



Question Number : 10 Question Id : 9679471222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S iR UG ¥ 34T UHR ¥ Yefid g fo JhR ¥ AR UG Ugd Ug ¥ Hafed g
D:P:E:?

Options :

1.% 7

2. % ]

3.¢¥Y

4.% T

Question Number : 11 Question Id : 9679471223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the below analogous letter cluster pair, find the missing letter cluster:
LAHORE : OUQCGM :: AGRA : ?

Options :

1. ¥ ACIU

2. ¥ DAAO
3. ¥ ARGA
4. * WGCQ

Question Number : 11 Question Id : 9679471223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Il fT 77T 9eRy $1&R THg &I Siol U, I 31&R THg AT H:
LAHORE : OUQCGM :: AGRA : ?

Options :

1. % ACIU
2. ¥ DAAO
3. % ARGA



4. % WGCQ

Question Number : 12 Question Id : 9679471224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Atomic Nucleus : Electrons :: Sun : ?

Options :

1. ¥ Planets

2. * Stars

3. % Solar System
4. # Satellites

Question Number : 12 Question Id : 9679471224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR | g¥R1 S Ugd Ue § Yefid g
WW&W:W::W:?

Options :

1. ¥ g

2. % AR

3. % UR dsd

4. % 3Ulg

Question Number : 13 Question Id : 9679471225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If M=13 and KITE=45, then BRIGHT=?
Options :

1. ¥ 64

2. % 58

3. % 72



4. %= 98

Question Number : 13 Question Id : 9679471225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfg M=13 3R KITE=45, A BRIGHT=?
Options :

1. ¥ 64

2. % 58

3.% 72

4. % 98

Question Number : 14 Question Id : 9679471226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If G =20 and VICE = 69, then HUMBLE = ?
Options :

1. * 99

2.9 101

3. % ol

4. = 87

Question Number : 14 Question Id : 9679471226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& G = 20 3R VICE = 69, @ HUMBLE = ?
Options :

1. % 99

2.9 101

3. % 61

4. % 87



Question Number : 15 Question Id : 9679471227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'KIRAN' is coded as "29-11-17-9-31' and 'VEERALU' is coded as '49-16-16-17-9-37', then how will you code 'NIRVAN'?
Options :

1. % 31-29-11-17-9-31

2. % 31-17-49-31-11-9

3. % 31-11-17-9-29-31

4. % 31-11-17-49-9-31

Question Number : 15 Question Id : 9679471227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 'KIRAN' D1 '29-11-17-9-31' & ¥U H Hifsd fba1 71 § 3R 'VEERAT & '49-16-16-17-9-37' & &4 H HifSd fosar 71 8, @ 'NIRVAN'
o HY Hifsd far e

Options :

1. % 31.29-11-17-9-31

2. % 31-17-49-31-11-9

3. % 31-11-17-9-29-31

4. ¥ 31-11-17-49-9-31

Question Number : 16 Question Id : 9679471228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'CRUST' is coded as 'FUUQR'. How will 'PASTE' be written in that same code?
Options :

1. ®* SCQCR

2. ¥ SDSRC

3. ¥ SDQRC

4. % SFQCD



Question Number : 16 Question Id : 9679471228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& A3 SIS U H, 'CRUST' &1 'FUUQR' & =0 H HifSd fhar a1 8| ST &1 H 'PASTE' 1 B forar Sreem?
Options :

1. % SCQCR

2. % SDSRC

3. ¥ SDQRC

4. ¥ SFQCD

Question Number : 17 Question Id : 9679471229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Madhup and Tushar are brothers. Sandhaya is the sister of Vinod. Tushar is the son of Sandhaya. How is Madhup related to Sandhaya?
Options :

1. ¥ Son

2. # Brother

3. % Brother's son

4. ¥ Father

Question Number : 17 Question Id : 9679471229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AYY 3R JUR YTS § | e faIg &t 961 5 | JUR e &1 U & | Ty ST ¥ hd Aafd 2
Options :

1.¥UH

2. % Yy

3. % YR HIECT

4. % O

Question Number : 18 Question Id : 9679471230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Mr. Gajanand stays with his family consisting of his wife, two married brothers of whom, one has three children and another has four children.
How many members are there in the family?

Options :
1. % 11
2. % 12
3.9 13
4. % 14

Question Number : 18 Question Id : 9679471230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&ﬁnag‘a&rqfruﬁw%mﬂwﬁ%imﬁsﬂﬁuaﬁ,ﬁﬁﬁﬂ“ﬁ%ﬂﬂﬁ@f@%?ﬂqaﬁ%sﬁ?gﬂ%%awﬁ%trh?mﬁ%ﬁ
Ja¥ g?

Options :

1. = 11

2. % 12

3.9 13

4. % 14

Question Number : 19 Question Id : 9679471231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the logical order:
1.Flight boarding
2.Check-in

3.Departure

4.Security Check

Options :

1. ¥ 1-4-2-3
2. % 3-4-2-1
3.9 2-4-1-3
4. % 4-3-2-1



Question Number : 19 Question Id : 9679471231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dlfcheh shH T T B

1. 7RIS C SIS
2. AH-3
3.URH .

4 RET Sl
Options :

1. % 1-4-2-3
2. % 3-4-2-1
3.9 2-4-1-3
4. % 4-3-2-1

Question Number : 20 Question Id : 9679471232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 12 possible participants A to L who are going to make a team of 6 people. A has to be selected but doesn't want to team up with B. D
has to be selected but doesn't want to team up with E and F. K has to be selected and L cannot be selected. In how many ways can the team be
formed?

Options :
1. %5
2.% 20
3.410
4. % 15

Question Number : 20 Question Id : 9679471232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT L TP 12 U UFTHTR & S 6 AT 1 TH ST SRR © | A &1 T8 foodl ST ¢ AT 98 B & I1Y A 8l ST 9gar g1 D &1
T {51 11 § Qe 98 E 3R F & 1Y S8 S 8t I8dT g | K b1 90 a1 ST § iR L b1 I8 Ta1 fohd1 o Jeba1 g1 19 &l
P dRip! & ST ST bl 82




Options :

1. %5
2. %20
3.410
4. % 15
General Ability2
Group Number : 2
Group Id : 96794762
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 96794762
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794774
Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 9679471233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Below is given a set of statements and a set of conclusions which may or may not follow from the statement. Select the correct option:

Statements:
All houses are concrete.
All concrete are expensive.

Conclusion 1: Only some houses are expensive.
Conclusion 2: Some concrete are not houses.

Options :

1. # Only Conclusion 1 follows
2. % Only Conclusion 2 follows
3. # Both Conclusions follow

4. % None of the Conclusion follow

Question Number : 21 Question Id : 9679471233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y BT U g R Fh | o1 T g f3am a1 § ST HUH I SIIER0 $HR Thdl § a1 Ta! Hf R Tohdl 8 | Ja! [ddhed &1 9 Be:
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f5hY 2: $& Hoplc W Rl 5
Options :

1. % Pad Fepy | SRV AT

2. ¥ Had fHY 2 IRV Hl §

3. % HI e SFRRUTARA 8 §

4. % BI% 1 FIspy SRR T BRaT g



Question Number : 22 Question Id : 9679471234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Below given is a statement an two arguments which may or may not be strong arguments in support of/against the statement. Identify the correct
option:

Statement: Should all factories have advanced machinery.

Argument 1: Yes advanced machinery will bring in more accuracy and efficiency in work.
Argument 2: No, more mechanization will lead to human resources losing their jobs to machine.

Options :

1. % Only Argument 1 is strong

2. % Only Argument 2 is strong

3. ¥ Both the Arguments are strong

4. # None of the Arguments are strong

Question Number : 22 Question Id : 9679471234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TP FYF 3R 3 d% AT MU § S Hu & T H/favs Toigd ab g1 Ht Iahd € SR 781 11 81 T & | I8! fashed &1 UgaH &e:
HY: A1 U SR F IFd IR g1 AT

b 1: B Iod ANRI B H 31 Ftddr 3R Térar araii|
db 2: 7et, 31T ARiiFieRur I AFg Tame =i I S A @l 37|

Options :

1. % $ad adb | Aoed §
2. % 6Had a% 2 Holgd §
3. ¢ Gl % Teled §

4. % o3 Ui d% Aogd 181 §

Question Number : 23 Question Id : 9679471235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Below is given a set of statements and a set of conclusions which may or may not follow from the statement. Select the correct option:

Statements:

Face Mask is a cosmetic.
No Cosmetic is cream.
Some creams are medicines.

Conclusion 1: Some creams are cosmetic.
Conclusion 2: Some medicines are face mask.
Conclusion 3: Some cosmetics are face mask.

Options :

1. % Only Conclusion 3 follows

2. % Only Conclusion 1 and 3 follows
3. # Only Conclusion 2 and 3 Follows

4. % None of the Conclusion follow

Question Number : 23 Question Id : 9679471235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had [T5HY 3 SIIR0T AT &

2. % Had fSHY | 3R 3 IRV Hd &
3. % Had T5HY 2 3R 3 SIARUI FRd §
4. % B3 Ui FIhy SR T8l HraT §



Question Number : 24 Question Id : 9679471236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below is a statement and a set of three assumptions which may or may not be implicit. Select the correct option:

An advertisement says: "We want to provide our service at your doorstep, rather than you bothering to come to us. Give us a call".

Assumption 1: People generally visit the store to get the service.
Assumption 2: People like to get service at their doorstep rather than going to the store.
Assumption 3: People will call the service provider after seeing this advertisement.

Options :

1. # Only Assumption 1 is implicit

2. % Only Assumption 1 & 2 are implicit
3. % All three Assumptions are implicit

4. # None of the Assumptions are implicit

Question Number : 24 Question Id : 9679471236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T U SR i yRonS %1 ud g foar mar § o FAfed 81 wehdn § a1 et Ui 81 uehdl 8 | e f[added B I $i:
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Options :

1. % Paq yrom | fAfed @

2. % Phad yrom 1 AR 2 kA g
3. « gt i yRome Afga @
4. % 5 Y yron fAfga T8t @

Question Number : 25 Question Id : 9679471237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the missing number from the series:
311,313,317, , 341,373

Options :
1. # 333
2.9 325
3. % 323
4, % 327

Question Number : 25 Question Id : 9679471237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRl T I I AT 1 DY
311,313,317, , 341,373

Options :

1. ¥ 333

2. ¥ 325

3. % 323

4. % 327

Question Number : 26 Question Id : 9679471238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number from the series:
7,8, 124,48, 1330, 168, 4912,

Options :
1. ¥ 360
2. % 528
3. % 6858
4. % 12166



Question Number : 26 Question Id : 9679471238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRt B I I AT 1 Dy

7,8, 124, 48, 1330, 168,4912,
Options :

1. ¥ 360

2. % 528

3. % 6858

4. = 12166

Question Number : 27 Question Id : 9679471239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number from the series:
3,7,15,31,  ,127,255

Options :

1. * 96

2.9 63

3. % 75

4. % 54

Question Number : 27 Question Id : 9679471239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o ¥ o IRSAT 1 B
3,7,15,31,  ,127,255

Options :

1. ® 96

2.¥ 63

3. % 75

4. % 54



Question Number : 28 Question Id : 9679471240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong number from the series:
12, 30, 56, 90, 130, 182

Options :
1. *= 182
2.9 130
3. % 90
4. % 56

Question Number : 28 Question Id : 9679471240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T < TTd ST I B

12, 30, 56, 90, 130, 182

Options :

1. # 182

2.9 130

3. % 90

4. % 56

Question Number : 29 Question Id : 9679471241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which numbered space in the figure represents teachers who teach in school, home and at online platforms?



Teachers

teaching Teachers teaching

at Online

Platform at home
14 15

E 17 12
13

Teachers teaching

in
11 school
Options :
1. % 12
2. % 13
3. % 16
4. 17

Question Number : 29 Question Id : 9679471241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P & HH-T1 TeHifd I 3 fRerep! B1 g2ial § S faeerd, TR SR R WehiH IR UG &2

ATz
WewiH rderdirs

TR Ul \ 2 e

WwWRed [ 44 | 15

Q = 12
13

faemerg o uan
e e

11

Options :



1. #® 12
2. % 13
3. % 16
4. 17

Question Number : 30 Question Id : 9679471242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diagram below represents the scientists who are engaged in the research of Covaxin, Covishield and Pfizer.
Study the diagram and identify the region which represents scientists who research both Covaxin and Covishield but not Pfizer.

A Covishield
Covaxin — VA
v Pfizer
Options :
1.*V
2. ¥ R+T+Q+S+U+P

3. 4T
4. % T+S+U+P

Question Number : 30 Question Id : 9679471242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feam T S 3 AR &1 Ui ol & Sl DIdaH, HifaRiics 3R BIIoR & MY F U ¢ |

mm&%ﬁﬁ 3R 3T &F B g™ B ol 39 a1 b1 U Ham 8 S plafra 3R Hifdeiics Fl IR 2Ny Hd g Al
BTIoR WR -Tg! |



’Aeh -

TIgulY

Options :

1. %V

2. % R+T+Q+S+U+P
3.7

4. ® T+S+U+P

Question Number : 31 Question Id : 9679471243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following figure, the women aged 40 years and below who are politician and MLA are indicated by which number?

MLA
kS
10 Politician
6 T
2 2 } Women aged 40

Women aged sk years and below

above 40 years 8 9
Options :
1.¥2
2. % 6

3.%5



4. % 4

Question Number : 31 Question Id : 9679471243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Spfa &, 40 I 3TR I HH 31g Bt ARATT ST AeHdT 3R MLA €, 32 foa Tem 3 exifar man g2

MLA ;

10

5 2 _4:]a1§r34“|T3?R§r_

4:]3'&%—% 43 wmﬂw
3T i AT

Options :
1.¥2
2.% 6
3.%5
4, % 4

Question Number : 32 Question Id : 9679471244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Walmart (W), Flipkart (F), Myntra (M)?
Options :

w



F
M
2. ¥
F
M w
3. %

ROXORO

Question Number : 32 Question Id : 9679471244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad & @ o9 1 37 3ma araare (w), foauete (), fizn (v) & S & Jaey & Ta 3r<sT g2iidr 82

Options :

w

1. ®

2.¥



M w
3. %

ROROXO

Question Number : 33 Question Id : 9679471245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right
of the problem figures, if the sequence were to be continued:

[ IATAA]

Options :

7
2
A




s

Question Number : 33 Question Id : 9679471245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & TS ST YTe U SIehH B SIIERU HRd! ¢ | SR AHIad! &1 Gl & I T8t fased &1 99 oY, S Uy Mpfad & ald 3R
3T =NfeT, afe 3HH SR} AT ST B

[ IATAA]

Options :

X || |2 |2

4.9

Question Number : 34 Question Id : 9679471246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The figures given below follow a similar pattern. Find the succeeding figure which justifies the given sequence, from the list of options given
below:

GREAT TGREA CRUST TCRUS IPZOF ?
Options :
PIZOF
1. #
ZIPOF
2. %
IFPZO
3. %
FIPZO
4. &

Question Number : 34 Question Id : 9679471246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ga:ﬂnjﬁ&@%wwﬁﬁm IR Rl & | ST SHTHid J1d B3 ol A 4T 7Y fashed &1 gt # 9, {4 7Y srgepd &1 I

GREAT TGREA CRUST TCRUS IPZOF z

Options :

PIZOF

ZIPOF

IFPZO

FIPZO

Question Number : 35 Question Id : 9679471247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right
of the problem figures, if the sequence were to be continued:

X X
3 o % "?
$ *¥ X B
Options :
% § X
i@ >
1. %
§ X
% #
9 ® @
g X =
% 3
3.8 [+
% %
X
4. ¢ g =

Question Number : 35 Question Id : 9679471247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T €1 TS ST YEe U SIehH B SRR HRd! ¢ | SR AHG! &1 Gl & I et faehed &7 99 B3, S Uy Mpiad & ald 3R
3T =fRT, Tl 3FehH SIRY T ST B




¥ % 2
$ ¥ X §
Options :
% $ X
@ »
1. %
g X =
% #
2. % @
g xX =
% i
3,0% |+
% §
X
4. ¢ g

Question Number : 36 Question Id : 9679471248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the following, choose the figure which is different in pattern which the other three follow:

2 4 3 9 5 | 25 7 | 49
4 16 9 | 81 25 | 125 49 | 2401
FIGURE 1 FIGURE 2 FIGURE 3 FIGURE 4

Options :



1. # FIGURE 1
2. # FIGURE 2
3. ¥ FIGURE 3
4. # FIGURE 4

Question Number : 36 Question Id : 9679471248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea 7 3, 39 el &1 987 &% o 39 Yo & e B ot 3rgaRur o/ fiF #vd §:

2 4 3 9 9 25 7 49

4 16 9 81 25 | 125 49 | 2401

3T 1 3Tpfal 2 3mpha 3 AT 4

Options :

Question Number : 37 Question Id : 9679471249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which answer figure is the problem figure embedded?

</

By

Pk

Options :




Lol

Question Number : 37 Question Id : 9679471249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg IR 3Mpfa H Uy sl IfalRa 82

Pk

Options :




3.««*&

Question Number : 38 Question Id : 9679471250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The problem figure represents a transparent piece of paper folded along the diagonal line. Which figure represents the correct result after folding?

Ny S
O
% L P
Options :
NG

%
1. %



AN
%
2. %
8
v
3. %
B 8
%
4. <

Question Number : 38 Question Id : 9679471250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST B! Il W1 & 1Y 43 §U BN & URGRN ¢hs T UG HRal o | B AT i Ae & d1¢ Tal uRomd gt 82
RN &

O

vp p
Options :

X &

%

1. %



N8

%
2. %

g 8

v
3. ®

g8 8

&
4.9

Question Number : 39 Question Id : 9679471251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the correct mirror image of the problem figure.

A
v «
$
L d
B
Options :
Vv A
e
3z D
1. %




v P
2
g} D
2. %
v
2
. D
3. &
P Vv
g
D B |
4. v

Question Number : 39 Question Id : 9679471251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TY 3BT B Tol U B 1A B
v <
$
L d

Options :



v A
e
=y D
1. %
v P
e
g D
2. ®
v «
2
K. D
3, %
v
¢
D B
4.

Question Number : 40 Question Id : 9679471252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the following figure:



v
VYT
2
2. %
O
AX T
2
3. %
4, %

Question Number : 40 Question Id : 9679471252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad snefd & Sa Sid I B



v
VYT
2
2. %
O
AX T
2
3. %
4, %
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Question Number : 41 Question Id : 9679471253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a harvest festival?

Options :

1. # Vasant Panchami
2. % Bohag Bihu

3. # Wangala

4. ¥ Gurpurab
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Question Number : 41 Question Id : 9679471253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad & I &I 91 vad 34 ol 87
Options :

1. % 8= g

2. % §IgHT fog

3. % gITQn

4.2

Question Number : 42 Question Id : 9679471254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian festivals is a mid winter festival, celebrating the passing of the winter solstice?
Options :

1. # Bohag Bihu

2. % Baisakhi

3. ¢ Lohri

4. % Holi

Question Number : 42 Question Id : 9679471254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed @ 3 ®F 91 YRd digR T YMdeTd AR @, St MdeTe $/a-id & sid &1 Sy J 1 67
Options :

1. % SigHT fog

2. % STl

3. ¢ gl

4. % gleil

Question Number : 43 Question Id : 9679471255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

"National Ayurveda Day" is celebrated on the same day as which of these festivals?
Options :

1. % Vesak

2. ¥ Dhanteras

3. ¥ Ram Navami

4. # Akshaya Tritiya

Question Number : 43 Question Id : 9679471255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SRIdE fEaw S0 4 HF I iR & It fa UR = 1 82
Options :

1. % q¥D

2. ¢ YARY

3. % A TaH!

4. % &g qardm

Question Number : 44 Question Id : 9679471256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vesak is celebrated largely by which of the following religious communities?
Options :

1. ¥ Buddhists

2. % Muslims

3. # Sikhs

4. % Parsis

Question Number : 44 Question Id : 9679471256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I g U 3 fafafad & 9 ford ufties THer™ gRT 511 Sl 62
Options :

1. ¥ dg

2. % YA

3. % Rra

4. % gRY!

Question Number : 45 Question Id : 9679471257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sentences best defines fiscal policy?

Options :

1. # Policy to control interest rates or the money supply in a nation.

2. # Regulations and agreements that control imports and exports to foreign countries.
3. % Strategic effort by the State to encourage economic transformation.

4. ¥ An estimate of taxation and government spending that impacts economy.

Question Number : 45 Question Id : 9679471257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed 7 ¥ o 91 areg e Hifd B gataw T § gRyIid a1 82
Options :

1. % fordit =T & TS X1 a1 &l 3T B! Fafd o &1 |

2. % fafam SR gwgha o facen § smard ok fafd &1 afa #a |

3. % 3fTffer gfadH &1 MicaTfed &R & T T8 gRT 0 T |

4. HAYM R BRI W BT STAH ol ST BT YU HRAT & |

Question Number : 46 Question Id : 9679471258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the financial year 2021, which country had the highest FDI equity flow into India?



Options :

1. % Netherlands

2. % United Kingdom
3. ¥ Singapore

4. % United States of America

Question Number : 46 Question Id : 9679471258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faita ay 2021 #, ford 2 &1 URA W Gad $fYb FDI 3T UaTg U
Options :

1. % xS

2. ® gARCS fhirenm

3. ¢ TR

4. % T I SHRDBT

Question Number : 47 Question Id : 9679471259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among these is not one of the 23 commodities covered by the MSP (Minimum Support Price) mechanism?
Options :

1. ¥ Onion

2. % Peanut

3. # Sesame

4. % Sugarcane

Question Number : 47 Question Id : 9679471259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 I DI T MSP ((GATH THYT Jed) TF GRT 1A B T3 23 TSN J TS 81 87

Options :




1. ¥ IS
2. % et
3. % fad
4, % T

Question Number : 48 Question Id : 9679471260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Economic Survey of India is prepared under the guidance of which of the following personnel?
Options :

1. #® Finance Minister

2. % Chief Economic Adviser of India

3. % Governor of the Reserve Bank of India

4. % Comptroller and Auditor general of India

Question Number : 48 Question Id : 9679471260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o @ frge ariex= & YRdg anfife gdermr dar fear ST 32
Options :

1. % faq o1

2. ¢ YR GBI 31 FAeHR

3. % YRAH Reld dep & IogaTd

4. ¥ YRd o & Ud HeIeRamuiied

Question Number : 49 Question Id : 9679471261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the theme of the Economic Survey 2020-21?
Options :

1. # Agriculture and Rural economy.



2. # Shifting Gears towards $5 trillion Indian Economy by 2024-25.
3. # Ethical Wealth Creation.
4. ¥ Saving Lives and Livelihoods.

Question Number : 49 Question Id : 9679471261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffer FderuT 2020-21 T fawg 1 UM

Options :

1. % By 3R Ui sifegaw

2. % 2024-25 9% G Bl $5 feferaa & URdTg srdagaw &1 ik RFfaRd w1
3. % Afdw o= fmfo

4. ¢ e 3R SHTShifaesT sr=mT |

Question Number : 50 Question Id : 9679471262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All of the following foods are a rich source of Ascorbic acid, except
Options :

1. ® oranges

2. % strawberries
3. # potatoes

4. ¥ beef

Question Number : 50 Question Id : 9679471262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafaa 7 9 DI BredH, T W Uard Thifad 3 &1 TG Hid g |
Options :

1. % FRl

2. % iRl



3. % 3T
4. A

Question Number : 51 Question Id : 9679471263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following carbon compounds is one of the main ingredients in a fire extinguisher?
Options :

1. % carbon monoxide

2. % carbon dioxide

3. % carbon disulfide

4. % carbon halides/ carboranes

Question Number : 51 Question Id : 9679471263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed & @ 5 1 B Qe e i & gor el § U 72
Options :

1. % P GRS

2. ¥ HIE SR RISS

3. % PHIo SSIHISS

4. % PHIE gASS/BIENT

Question Number : 52 Question Id : 9679471264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Methylmercury poisoning is the cause of which of the following diseases?
Options :

1. # Ischemic heart disease

2. % Blackfoot disease

3. ¥ Minamata disease



4. % Arsenicosis

Question Number : 52 Question Id : 9679471264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fauTadar fRafRad & ¥ fg I &1 sRu 82
Options :

1. % RIS 3R B&g AT

2. % SAHPT I

3.  TOETHTAT I

4. % JRIFDIRM

Question Number : 53 Question Id : 9679471265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Limnology refers to the study of:

Options :

1. ® Marine life and ecosystems.

2. ¥ Inland freshwater both standing and running.
3. # Igneous, metamorphic and sedimentary rocks.
4. ® All aspects of soil.

Question Number : 53 Question Id : 9679471265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRITIH 8 & S BT Hafid Bl 6:
Options :

1. % g e SR e |

2. ¢ 3 YT ST Ul G FRRR iR §gaTl
3. % 3T, PIARG IR SHaHTe) e |

4. % gar o g =U|




Question Number : 54 Question Id : 9679471266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of the relationship between living things and their interactions with their surroundings is called:
Options :

1. # Zoology

2. % Geology

3. % Ecology

4. % Biology

Question Number : 54 Question Id : 9679471266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shfad dielf 3R ITds UfRa=T o WY Ih! 3ict:foba o st & Heitll & S b g HgT A1l &:
Options :

1. % yrforasT

2. % YfayH

3. ¢ UIRIRUfdH!

4. % Sfiafag

Question Number : 55 Question Id : 9679471267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which part of India is Ley farming practiced?
Options :

1. ¥ Arid zone

2. # Gangetic plain

3. % Deccan plateau

4. % Northeastern states

Question Number : 55 Question Id : 9679471267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& Wt HRA & 5T 4R & Y oiredt 82
Options :

1. ¢ b &7 (TRS o)

2. % T AEH

3. % TIPH HTUSR

4. % YRR I

Question Number : 56 Question Id : 9679471268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which soil after adopting appropriate soil conservation techniques is highly suitable for growing tea and coffee?
Options :

1. % Forest Soil

2. % Alluvial Soil

3. ¥ Laterite Soil

4. % Arid Soil

Question Number : 56 Question Id : 9679471268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG &I TREUT AH1D! DI UM P &G DI I Gl T 3R HIP! ST & o Afd Iugad g2
Options :

1. ® g9 ¥Hal

2. % S[qlig gal

3. ¢ TCRI8e gar

4. % I Tl

Question Number : 57 Question Id : 9679471269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these islands in the Bay of Bengal is not a part of India?
Options :

1. # North Sentinel Island

2. % St. Martin's Island

3. % Neil Island

4. % Sagar Island

Question Number : 57 Question Id : 9679471269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 T B 1 51U ST P Wl 7 HRd BT 2w 8t 82
Options :

1. % SWISAAGIT

2. ¢ JeqifiEa giu

3. % A glg

4. % IR GIY

Question Number : 58 Question Id : 9679471270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the 2011 census, which is the most densely populated district in India?
Options :

1. # Kolkata

2. # Chennai

3. % North East Delhi

4. ¥ Mumbai Suburban

Question Number : 58 Question Id : 9679471270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2011 P SFRTUMT & SR, HRA H Tad 911 STaTe! ara foret i 41 g2




Options :

I -ANCAR]

2. % IS

3. ¢ IR gl feaeit
4. % g3 ITTR

Question Number : 59 Question Id : 9679471271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these personalities was the founder of the Aligarh Muslim University?
Options :

1. % Asaf Ali

2. # Dr. Zakir Hussain

3. ¥ Mohammad Ali Jauhar

4. ¢ Sir Syed Ahmed Khan

Question Number : 59 Question Id : 9679471271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 9 ®IF 3fciiTe gRaH fayfaee &1 SRimas U1
Options :

1. % 30 3fcil

2. % ST hR g

3. % HEHIG 37efl Silg”

4. ¥ T YIQ 3GHS GH

Question Number : 60 Question Id : 9679471272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During the reign of which dynasty did Gautama Buddha spend much of his life in Magadha?
Options :



1. ¥ Haryanka Dynasty
2. # Shishunaga Dynasty
3. % Pradyota Dynasty
4. ¥ Maurya Dynasty

Question Number : 60 Question Id : 9679471272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY G5 7 [y o & ST J (U1 ST Sitae Ty & faarar 4

Options :
1. v g% ax
2. % fRIFAMT IR
3. % JRIA 9N
4. % O TorER1
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Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2
Section Id : 96794764
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794776
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9679471273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

the "Tripartite Struggle" for the control of Northern India in the Early Medieval period did not involve which of the following parties?
Options :

1. # Pratihara Empire

2. # Pala Empire

3. % Pallava Empire

4. # Rashtrakuta Empire

Question Number : 61 Question Id : 9679471273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS A H1a B ST HRd & =01 & fore Huefa T & Fofafad & 3 o9 91 uef i T8t or

Options :

1. % JfdeR qHsg
2. % U JTHTsg
3.« Uodid ATty
4. % YR IS

Question Number : 62 Question Id : 9679471274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Northern Black Polished Ware (NBPW) culture in the Indian Subcontinent can be linked to which period?
Options :

1. # Neolithic Age

2. # Chalcolithic Age

3. % Bronze Age

4. % Tron Age

Question Number : 62 Question Id : 9679471274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR IuHeTg g § A1 s Uiferers 3aR WRgpfa o ot 3rafy & ShsT off Wehal 82
Options :

1. % = qUIYTuT Yi1

2. % iy UmyTor gt

3. % BRI I

4. ABT

Question Number : 63 Question Id : 9679471275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to the Puranas, which of the following Tirthankaras was said to be the cousin of Lord Krishna?
Options :

1. % Shantinatha

2. ¥ Neminatha

3. ¥ Mabhavira

4. % Munisuvrata

Question Number : 63 Question Id : 9679471275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN & T F, Fafaled o 9 fog fdar o Yiar o &1 TR IS Sel T U1




Options :

Question Number : 64 Question Id : 9679471276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arundhati Roy won the Man Booker Prize in 1997 for which of her books?
Options :

1. ¥ The End of Imagination

2. % Broken Republic

3. ¥ The God of Small Things

4. % The Cost of Living

Question Number : 64 Question Id : 9679471276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3r5Yfd g A 37O fohd Qede & g 1997 H B9 g REBR SidI?
Options :

1. % T8 P SARHIA

2. % i Rufettap

3. ¥ G IS 31t WHId g

4. % G DI AW farfd

Question Number : 65 Question Id : 9679471277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The novel "Hullabaloo in the Guava Orchard" is written by:
Options :



1. ¥ Kiran Desai
2. # Jhumpa Lahiri
3. % Chitra Banerjee

4. % Amrita Pritam

Question Number : 65 Question Id : 9679471277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U "geellaTel 3 € 3HTaT 3R=S " b gRT forar man B
Options :

1. ¢ TR qurg

2. % T dlfgel

3. % fea el

4. % 3 UidH

Question Number : 66 Question Id : 9679471278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mulk Raj Anand won the Sahitya Akademi Award in 1971 for which of his books?
Options :

1. % The Big Heart

2. % Morning Face

3. ¥ Untouchable

4. % Across the Black Waters

Question Number : 66 Question Id : 9679471278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TehTol 311G 4 1971 H 3(U- fobd Yedeh o o i sbretl RIHR Siidl?

Options :

1. % cfamrerd




2. ¢ AT Y
3. % 3Fcddd
4. % 3[HTY ¢ AP arey

Question Number : 67 Question Id : 9679471279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Indian American Journalists was awarded the Padma Bhushan in 2010 for their contributions to journalism?
Options :

1. # Vinnie Malhotra

2. ®* Sanjay Gupta

3. ¥ Fareed Zakaria

4. % Bobby Ghosh

Question Number : 67 Question Id : 9679471279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 9 fg YR SRS TABR Bl GABIRAT H 3 ARG & Il 2010 T U1 YNOT J JrATd fobam T 412
Options :

1. % ot Aegrn

2. % GO LT

3. ¢ TG W1l

4. % qidl 9N

Question Number : 68 Question Id : 9679471280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first Covid 19 case in India was recorded in the state of:
Options :

1. ¥ Kerala

2. % Karnataka



3. ¥ Maharashtra
4. % Uttar Pradesh

Question Number : 68 Question Id : 9679471280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H gl IS 19 AT ford Id | & foba 17 T:
Options :

1. ¢ D

2. % FlcH

3. % HeRIY

4. % JW UK

Question Number : 69 Question Id : 9679471281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who succeeded Kamal Nath as the Chief Minister of Madhya Pradesh after the political crisis of March 20207
Options :

1. % Uday Pratap Singh

2. % Umang Singhar

3. #® Yashodara Raje Scindia

4. % Shivraj Singh Chouhan

Question Number : 69 Question Id : 9679471281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 2020 F IS Ybe & a1 T UG & GIHA & ©T | HHATY BT JARAd| DI a1
Options :

1. % 3¢ Uar Rig

2. % IO RUR

3. % gRNeRT IS Rifean




4. ¢ IR g g™

Question Number : 70 Question Id : 9679471282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of security forces was attacked in the Sukma-Bijapur district border of Chhattisgarh on 23rd March 2020 by which of the following
groups?

Options :

1. # Lal Jhanda dal

2. % People's Liberation Guerilla Army (PGLA)

3. # Salwa Judum

4. % Bhumi Sena

Question Number : 70 Question Id : 9679471282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

23 A 2020 PI BTG b FHAT-STR forer drar R FafaRad o 9 fod T5g §R1 YR 9dl & g R gHdT [dbar T/

Options :
1. ® I Ferad

Question Number : 71 Question Id : 9679471283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Baghjan gas leak on 27th May 2020 occurred in which of the following states?
Options :

1. ¥ Assam

2. % West Bengal

3. ® Nagaland

4. ® Gujarat



Question Number : 71 Question Id : 9679471283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o 9 ford 0 27 1% 2020 BT ST 19 g § gam
Options :

1.« 3UH

2. % Ui ST

3. % ANTCIS

4. % TGRId

Question Number : 72 Question Id : 9679471284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Forest Rights Act, which accords legal recognition to the rights of traditional forest dwelling communities in India was passed in the year:
Options :

1. % 2000

2. % 2002

3. % 2006

4. % 2008

Question Number : 72 Question Id : 9679471284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SHIBR AW, S YR # URURS a1 o Iqerl & SeR! & S Aadl YaH &Rdl 7, 9 av # uiied forar man .
Options :

1. % 2000

2. % 2002

3.9 2006

4. % 2008




Question Number : 73 Question Id : 9679471285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Representation of People Act, 1951 deals with:
Options :

1. # Process of selection for public services

2. ¥ Procedure of elections held in the country

3. # Procedure of bills being raised in the parliament

4. # Eligibility criteria for qualifying scheduled cast or scheduled tribe status

Question Number : 73 Question Id : 9679471285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A it siffam, 1951 9 9 Wefia &

Options :

1. % oS- Jarsii & fore 99+ &1 ufehar

2.« SR §H dTel A1d1 Dt Ufeha

3. % 4G H [a9gD] &1 URT 3 &l Ufcha

4. % oA ST AT ST SISl T Goll T R o ot Uil AHds

Question Number : 74 Question Id : 9679471286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All offences under which of these sections of the Indian Penal Code are considered non-bailable?
Options :

1. ¥ Section 124A- Sedition

2. ® Section 506- Criminal Intimidation

3. # Section 186- Disobedience to order duly promulgated by public servant

4. % Section 210- Fraudulently making false claim in court

Question Number : 74 Question Id : 9679471286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RO &8 Afedt &t 398 I fobd 4RT & dgd I+ SMuR1e TR-SHM HH STd 82
Options :

1. ¢ YRT 124A- SV

2. % YR 506- HTRIYD YT

3. % YT 186- Al Jdh g [afrad TReUd MG &1 a3

4. ® YRT210 - HYCYdD AT H AT GTal Bl

Question Number : 75 Question Id : 9679471287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Information Technology Act come into effect?
Options :

1. * 1998

2. % 2002

3. ¥ 2004

4. % 2000

Question Number : 75 Question Id : 9679471287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LI Wt i e ang gem
Options :
1. % 1998
2. % 2002
3. % 2004
4.+ 2000

Question Number : 76 Question Id : 9679471288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many players does a Kho-Kho team consist of?



Options :
1. = 14
2.% 12
3.% 10
4. % 8

Question Number : 76 Question Id : 9679471288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
-8l &1 H fpd fearst 8id 82
Options :

1. % 14

2.¥ 12

3. % 10

4. % 8

Question Number : 77 Question Id : 9679471289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 2018 Men's Hockey World Cup was held in which state?
Options :

1. * Maharashtra

2. % Tamil Nadu

3. ¥ Qdisha

4. * West Bengal

Question Number : 77 Question Id : 9679471289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 G239 glob! [dy U fovd o9 H St fosam mam ur

Options :



1. % HERIY
2. % Qe ATg
3. ¢ 3fifszm
4. % Ui &I

Question Number : 78 Question Id : 9679471290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Indian men's hockey team win the World Cup?
Options :

1. # 1971

2. % 1973

3. 1975

4, % 1978

Question Number : 78 Question Id : 9679471290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR G2 B! <1H A 5 an & fayy &0 Shtar am
Options :

1. % 1971

2. % 1973

3.¥ 1975

4. % 1978

Question Number : 79 Question Id : 9679471291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seval Sandhai is a rural sport in Tamin Nadu, which is a form of:
Options :

1. # Martial Arts



2. # Kite flying
3. % Bull-fighting
4. ¥ Cock- fighting

Question Number : 79 Question Id : 9679471291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yga GuTg qftret 1g § U i Qo 8, s Rg 1 u #:
Options :

1. % TR 31E

2. % i 3SHI

3. % s g

4. T ASTg

Question Number : 80 Question Id : 9679471292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever match of first-class cricket in 1864, in India was played between:
Options :

1. # Delhi and Madras

2. % Madras and Bombay

3. # Calcutta and Bombay

4. ¥ Madras and Calcutta

Question Number : 80 Question Id : 9679471292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1864 H YRA H UyH 907 fobope o1 ugan 74, Fy & ot Wer T ot

Options :

1. % faca iR AgTy
2. % HgTY 3R TS




3. % HADl 3R TW5
4. ¥ TG 3R HAG

Arithmetic Abilityl

Group Number : 5

Group Id : 96794765
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 96794765
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794777
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9679471293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two numbers are in the ratio 9 : 11. If their HCF is 4, then find the numbers.
Options :

1. % 34,42

2.9 36,44

3. % 84,110

4. % 92, 84

Question Number : 81 Question Id : 9679471293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 : 11 F 30T H € | Al 37T HewH THUGS 4 &, <l TeATd J1d Be |
Options :

1. #® 34,42

2.% 36,44

3. % 84,110

4. % 92, 84

Question Number : 82 Question Id : 9679471294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of two numbers is 4 and the LCM is 48. If one of the numbers is 16, find the other number.
Options :

1. % 32

2.¥ 12

3. % 20

4. % 8

Question Number : 82 Question Id : 9679471294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS BT HETH JHUAAD 4 § SR <LTH JATIAAD 48 § | Tfe TATsl § W TH 16 §, A Gu] e J1d B |
Options :




1. * 32
2.¥ 12
3. %20
4. %8

Question Number : 83 Question Id : 9679471295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the fractions in descending order: 1/2, 5/3, 1/4, 3/9, 2/7
Options :

1. % 1/4,2/7,1/2,5/3,3/9

2. % 5/3,2/7,1/4,1/2, 23/9

3. % 1/2,5/3,1/4,1/3,2/7

4.9 5/3,1/2,3/9,2/7,1/4

Question Number : 83 Question Id : 9679471295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fErel b1 SfeRIe! shH H AU BX: 172, 5/3, 1/4, 3/9, 2/7
Options :

1. % 1/4,2/7,1/2,5/3,3/9

2. % 5/3,2/7,1/4,1/2,23/9

3. % 1/2,5/3,1/4,1/3,2/7

4.9 5/3,1/2,3/9,2/7, 1/4

Question Number : 84 Question Id : 9679471296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A long rope of 55 m is cut into several equal parts of length 2.5 m. Find the number of such parts.
Options :

1. %5

2. % 11



3. % 18
4.4 22

Question Number : 84 Question Id : 9679471296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

55 m @1 U Aal YW B 2.5 m TGS &b Ds FH U H HIeT T 5 | TH YRT BT TReAT 1 B |
Options :

1. %5

2.% 11

3. % 18

4, 22

Question Number : 85 Question Id : 9679471297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are a certain number of students in Physics Department. The average age of all the students in Physics department is 18 years. Later it was
found that two data were recorded incorrectly as 17 and 20 instead of 16 and 23. Find the correct average age (approx.), if the total number of
students are 30.

Options :

1. ¥ 18 years
2. % 20 years
3. % 16 years
4. % 19 years

Question Number : 85 Question Id : 9679471297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hifas! faurT & st &1 Afda dem g1 Hifas! faunt & Wit S @ offd oMy 18 a¥ § | 91 § I8 ura T fob &1 e 16 31R 23 & aoid
17 3R 20 & FY T TTed dieh T ol fpY 7T & | Tt S 31 (THTHT) T1d B<, TS SHI B Hof TJAT 30 3

Options :

1.+ 184Y




2. % 204y
3. % 16dY
4. % 1979

Question Number : 86 Question Id : 9679471298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is raised 30% above the cost price. If the discount on the article is 10%, find the ratio of cost price and selling
price.

Options :

1. % 100: 130
2. % 170:100
3.100: 117
4, % 117:110

Question Number : 86 Question Id : 9679471298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I 1 Sifchd Tod ARTa e ¥ 30% 31 FeT faan T g | afe a¥g W BT 10% &, df ANTd Jed 3R [958 T BT SUTd J1d D |
Options :

1. % 100 : 130

2. % 170 : 100

3.4100: 117

4. % 117: 110

Question Number : 87 Question Id : 9679471299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the squares of first five natural numbers is:
Options :

1. % 55

2.% 11



3. #% 16.5
4. % 25

Question Number : 87 Question Id : 9679471299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T OTd UTepfds TReATf & a7l ol SINId &:
Options :

1. % 55

2.9 11

3. % 16.5

4. % 25

Question Number : 88 Question Id : 9679471300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul’s monthly salary is Rs. 7200. He spends 40% of the salary on rent, 20% on education and 70% of the remaining amount is invested in
Gold. Find the amount invested in Gold.

Options :

1. ¥ Rs. 2016
2. % Rs. 3617
3. % Rs. 2531
4. % Rs. 2825

Question Number : 88 Question Id : 9679471300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IES BT WIS I 7200 TUU § | TE I BT 40% fHRTT TR T FHRl B, 20% TRI&T TR 0 3l & 3R AW AR BT 70% T B 3 vt
AR AR R EIR ERUREIGE: 2]

Options :
1. ¥ 2016 %UC
2. % 3617%UU




3. % 2531%UC
4. % 2825%U4U

Question Number : 89 Question Id : 9679471301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student has to obtain a minimum of at least 42% marks in an examination to pass. He scored 37% and failed by 50 marks. Find the total marks
of the exam.

Options :
1. ® 1200
2. % 500
3. % 1500
4. 1000

Question Number : 89 Question Id : 9679471301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B DI TS T ST 8 & [ HH F HH 42% 3 U B 81 & | ST 37% i BT faby 3R 50 3fepi T fiof gt war | odten
& P b JId DRI

Options :

1. * 1200

2. % 500

3. * 1500

4.+ 1000

Question Number : 90 Question Id : 9679471302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between 67% of a number and 39% of the same number is 84. Find the number.
Options :

1. % 300

2. % 367



3. % 127
4. = 427

Question Number : 90 Question Id : 9679471302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH GBI P 67% R I TSI & 39% & o1 BT 3R 84 8 | T-AT J1d B |
Options :

1. ¥ 300

2. % 367

3. % 127

4. % 427

Question Number : 91 Question Id : 9679471303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man divides Rs. 6600 between his two children. The difference between the shares of two children is 30% of the total amount. Find the larger
amount.

Options :

1. * Rs. 4939
2. % Rs. 4829
3. ¥ Rs. 4290
4. % Rs. 4273

Question Number : 91 Question Id : 9679471303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MeH 3P &l F&! & & 6600 TUU Siedl 5| &l = & R & g o1 SiaR Ha AR BT 30% ¢ | TS M J1d B |
Options :

1. % 4939 %4U

2. % 4829 %4U

3. 9 4290 %UU




4. % 4273 34U

Question Number : 92 Question Id : 9679471304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the selling price of an article is 7/6th of its cost price, find the profit percent.
Options :

1. # 8.33 percent

2. ¥ 16.66 percent

3. % 33.33 percent

4. ¥ 4233 percent

Question Number : 92 Question Id : 9679471304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ol I 1 faeh e I STl Hed BT 7/6a1 HITT B, Tl ATH UTI=Id T bR |
Options :

1. % .33 Ufa=rd

2. ¥ 16.66 Ufa=Id

3. % 33.33 Ofa=d

4. % 42 33 gfard

Question Number : 93 Question Id : 9679471305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling an article for Rs. 420, a man gains Rs. 50. At what price he must sell the article to get Rs. 73 profit?
Options :

1. % Rs. 528

2. % Rs. 235

3. ¥ Rs. 443

4. % Rs. 365



Question Number : 93 Question Id : 9679471305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Toh ¥ D1 420 BUT H o WX, Teh TGHT DI 50 YT YT §U| 73 FUT BT ATH U DR o felT I a¥q b1 fb e e TR =1 g
Options :

1. #® 528%UUQ

2. % 235%U0Q

3. ¥ 44300

4. % 365%UU

Question Number : 94 Question Id : 9679471306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells some bananas at the rate of Rs. 7.50 each. He bought the bananas at the rate of Rs. 5.50 each. Find the total profit earned on
selling 2 dozen bananas.

Options :

1. ¥ Rs. 48
2. % Rs. 24
3. % Rs. 44
4, % Rs. 41

Question Number : 94 Question Id : 9679471306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER $D b 7.50 UL YA 1 & T ST g1 I Pl 5.50 SUT YAD Bl &R F WIS | 2 GO ol g TR 31foid Had oy F1d
DI

Options :

1. ¥ 48 >0UQ
2. % 24%UU0
3. % 44%UU
4. % 413040




Question Number : 95 Question Id : 9679471307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a society, the ratio of engineers to scientists is 4 : 5. If the total number of people in the group is 81, what is the number of engineers in the
group?

Options :

1. % 45

2. ¥ 36

3. % 21

4. % 27

Question Number : 95 Question Id : 9679471307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 1 H, 3ifipidreit & Iee) o1 3urd 4 : 5 B 1 afe Tqg & Al & ot G 81 B, ot wog o siftrdarstt &t Gem fa 2
Options :

1. % 45

2.9 36

3. % 21

4, % 27

Question Number : 96 Question Id : 9679471308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of number of men and women in a village of 6500 people is 7 : 6. How many more men should be added such that number of men
becomes double that of women?

Options :
1. % 3200
2. % 3500
3. % 4200
4.+ 2500



Question Number : 96 Question Id : 9679471308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6500 AT o T & T30 3R A3 o1 T &1 3JATd 7 : 6 8| fha 3R TSU! B! SieT ST dTie T dlids YO8 o1 Ted Afgaaii o
SRS

Options :

1. # 3200

2. % 3500

3. % 4200

4. % 2500

Question Number : 97 Question Id : 9679471309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of acid to water in a beaker is 2 : 17. Find the total volume of liquid in the beaker if on adding 15 ml of water the ratio of acid to water
becomes 1 : 9.

Options :

1. % 273 ml
2. % 352 ml
3. % 285 ml
4. % 246 ml

Question Number : 97 Question Id : 9679471309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH SHR H ST R UM BT SIU 2 : 17 8| S H &0 BT Hd I J1d B Ale; 15 ml T ST TR ST BT U S 1: 9 8l
SIGI]

Options :

1. * 273 ml

2. % 352 ml

3.9 285 ml




4. % 246 ml

Question Number : 98 Question Id : 9679471310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length and breadth of a rectangle are in the ratio 3 : 8. If the area of the rectangle is 144 m?, find the perimeter.
Options :

1. % 48 m

2.¥ 2296 m

3. % 146 m

4. % 163 m

Question Number : 98 Question Id : 9679471310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ATd P AaT8 3R AISTE 3 : 8 P AT | o | TS I BT B 144 m? B, A URHATT J1d B |
Options :

1. % 48 m

2.9 22V6m

3. % 146 m

4. % 163 m

Question Number : 99 Question Id : 9679471311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the approximate value of simple interest earned on a sum of Rs. 6600 for 3 years at 9.09% interest rate.
Options :

1. # Rs. 900

2. % Rs. 1800

3. # Rs. 1600

4. % Rs. 1400



Question Number : 99 Question Id : 9679471311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 9N & AT 9.09% SATST &} TR 6600 FUT P TR TR ST ATETRUN ST BT AT Jed 1 D
Options :

1. * 900 %4UUq

2. ¢ 1800 ¥UU

3. ¥ 1600 >UQ

4. % 1400 >UU

Question Number : 100 Question Id : 9679471312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes four times in 2 years at a certain interest rate. Now, in how many years will the amount become 13 times its principal
value at the same rate?

Options :

1. % 5 years
2. % 9years
3. % 12 years
4.+ 8 years

Question Number : 100 Question Id : 9679471312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YRITRT AT I G R 2 9 § R 71 81 o1l 8 | 344, fora aut & g Wiy It &R ¥ 3(9= 4 e BT 13 7T 81 St
Options :

1. % 599
2. % 9Ty
3. % 1299
4. ¢ 8TY



Arithmetic Ability2

Group Number : 6

Group Id : 96794766
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 96794766
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794778
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9679471313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest and simple interest on a sum of Rs. 9000 for 2 years is Rs. 405. Find the rate of interest.
Options :

1. ¥ 21.2 percent



2. # 48 percent
3. % 38 percent
4. % 39 percent

Question Number : 101 Question Id : 9679471313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9000 ¥TT P I TR Ihgi STST 3R YR ST & &1l BT 3R 2 I8 & Tl 405 FUT § | TS &R A1 PR |
Options :

1. ¢ 212 gfa=rd

2. % 483 Yf=rd

3. % 38 gfa=rd

4. % 39 gfaerd

Question Number : 102 Question Id : 9679471314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many years will Rs. 62500 become Rs. 129600 at compound interest of 20 percent per annum?
Options :

1. # 3 years

2. # 8years

3. ¥ 4 years

4. ¥ 5 years

Question Number : 102 Question Id : 9679471314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore auf & wfd av 20 URIRIG & Tehdia ST TR 62500 ¥UT 129600 FUT B ST
Options :
|. % 399
2. % 8Ty



3.9 4TY
4. % 599

Question Number : 103 Question Id : 9679471315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student increases his speed by 25% and reaches school 10 minutes earlier. Find the actual time taken by him to reach the school.
Options :

1. # 26 minutes

2. ¥ 50 minutes

3. % 32 minutes

4. % 72 minutes

Question Number : 103 Question Id : 9679471315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BT 3T T H 25% B gk BT § 3R 10 e uga faereg ugad 81 39% gR1 faereg ugan & foran mar arafds 99g d &1
Options :

1. % 26 fBe

2.+ 50 e

3. % 32 e

4. % 72fiAC

Question Number : 104 Question Id : 9679471316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two stations are 1500 km apart. Two trains start approaching each other from the two ends of the station simultaneously at the speed of 90 kmph
and 60 kmph. Find the time after which they will cross each other.

Options :

1. # 18 hours
2. % 10 hours
3. ¥ 12 hours



4. % 15 hours

Question Number : 104 Question Id : 9679471316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =M UH GO I 1500 km G & | & XAMSAT 90 kmph 3R 60 kmph &1 7T J Th 1Y WIH & GHI BR I TH-GIR B 3R M L&
HRAT E | T8 THT F1d B3 oI 971G 9 Th AR B UR |

Options :

1. % 18%¢

2.v 10°C

3. % 126¢

4. % 159

Question Number : 105 Question Id : 9679471317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jane can complete a journey in 14 hours. He completes first half of the journey at a speed of 30 kmph and the rest at the speed of 45 kmph. Find
the total distance travelled by him.

Options :

1. % 392 km
2. % 469 km
3. ¥ 504 km
4. % 492 km

Question Number : 105 Question Id : 9679471317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O 14 °¢ T A1 T R Tohdl ¢ | I8 AT BT USAT ST HFT 30 kmph D1 7T F 3R Y 45 kmph &1 7110 T TR HRAT € 1 SUD gRT AT Pt
TS B 1 1 DR

Options :

1. % 392 km

2. % 469 km




3. % 504 km
4. % 492 km

Question Number : 106 Question Id : 9679471318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can complete a piece of work in 6 days while B can complete 6/7 of the same work in 6 days. Find the time in which A and B working together
can complete 13/7th part of the work.

Options :

1. # 8 days
2. % 7 days
3. % 12 days
4. ¥ 6 days

Question Number : 106 Question Id : 9679471318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH BT B 6 feAl B T IR GohdT ¢ STaid B 3T BT BT 6/7 HIT 6 Ta & TRT R AhelT ¢ | 98 THI 1A H< oH A 3R B TH 1Y
BT B GU BT & 13/7d HRT B! T B Thd gl

Options :

1. % gfaT

2. % 7T

3. % 12feq

4.¢ 6 A

Question Number : 107 Question Id : 9679471319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tap ‘P’ can fill the tank in 4 hours. Tap ‘Q’ can fill the tank in 6 hours while Tap ‘R’ can empty the tank in 12 hours. Find the time taken to fill
the tank when all the three tanks are opened simultaneously.

Options :
1. ¥ 3 hours



2. % 4.5 hours
3. # 2.5 hours

4. % 5 hours

Question Number : 107 Question Id : 9679471319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 'P' ThI Bl 4 T H HR IHdT 8| 7 'Q' Th B 6 U H HR Johdl § SIaid 7 'R' Tl BT 12 °e H WIeh B bl g | Tbl bl U H T
I THT J1d B 9F il 9 Tb 1Y Wl S 3 |

Options :

1.¥3%c¢

2. % 454¢

3. % 25%¢

4. % 5¢

Question Number : 108 Question Id : 9679471320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 12 days and B can do the same work in 18 days. They start working together and A leaves the work after working for
5 days. C joined the work when A left. C can complete the same work in 15 days. In how many days will B and C together complete the
remaining work?

Options :

1. % 5 days
2. % 2.5 days
3. % 2 days
4. % 7 days

Question Number : 108 Question Id : 9679471320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH HRA DI 12 TG H HR D1 ¢ IR B SH HR DI 18 TG H HR Ao ¢ 1 9 TP 1Y HTH BT L B & 3R A 5 fal adb dm
H & 91C B BIS edl g1 C BT T A G T A A BIST AT ¢ IW B BT 15 A A R R D1 81 IV B BI B 3R ¢ Haa




foram fal & R ¥
Options :

1. % 5faq

2. ¢ 2.5 e

3. % 2 e

4. % 7feT

Question Number : 109 Question Id : 9679471321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunil can write 500 pages in 5 days while Abhay can write 750 pages in 8 days. In how many days will they complete writing 1500 pages when
working together?

Options :

1. # 129/31 days
2. % 173/ 23 days
3. % 253/26 days
4. % 240/ 31 days

Question Number : 109 Question Id : 9679471321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%ﬁsﬁﬁsoo%ﬁl@awdl%wqﬁo 3147 8 &1 7 750 N fora Tohal g | T W1 19 HRd gU d fava &1 & 1500 I8 1 feramT 1
?

Options :

1. % 120/ 31 f&A
2. % 173/23 feA
3. % 253/26fe7
4. 240/ 31 f&A

Question Number : 110 Question Id : 9679471322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Calculate the volume of a cone of height 7 cm and radius 3 cm.
Options :

Question Number : 110 Question Id : 9679471322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 cm G TS 3R 3 om 501 aTel G H7 A= J1d B
Options :

1. % 83 cm?

2. ¥ 66 cm?

3. % 38 cm?

4. % 23 cm?

Question Number : 111 Question Id : 9679471323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metal ball of radius 9 cm is melted into smaller balls are radius 1.5 cm. Find the number of balls formed.
Options :

1. ¥ 216

2. % 244

3. % 265

4. % 263

Question Number : 111 Question Id : 9679471323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 om AT & YT & A B 1.5 om AT D1 BICT e H raraman 71 g | S aret fia) Bt IRed J1d He



Options :
1. ¥ 216
2. % 244
3. % 265
4. % 263

Question Number : 112 Question Id : 9679471324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rhombus has side of length 20 cm. One of the lengths of the diagonal is 24 cm. Find the length of the other diagonal.
Options :

1. % 19 cm

2. % 20 cm

3.% 32 cm

4. % 45 cm

Question Number : 112 Question Id : 9679471324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AU Bt YT B TGS 20 cm & | [THU B GaT8 H Y TP 24 cm & | GO Bl B daT J1d B
Options :

I. * 19 cm

2. % 20cm

3.% 32 cm

4. % 45 cm

Question Number : 113 Question Id : 9679471325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the expenditure of a man’s monthly income in various ways. His monthly income is Rs. 18,000. Find the amount spent on
education.



Percentage of amount spent

Options :

1. ¥ Rs. 3600
2. % Rs. 3200
3. # Rs. 3500
4. % Rs. 2800

Question Number : 113 Question Id : 9679471325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T1¢ Ueh SAfad b1 AR 31T & o0 ol fAfHe aiiop! T SxITar g1 ST HAIRID 311 18,000 TUT & | FRI&T TR o0 i 7% 1 J1d B |



T P 75 A &1 wfdwa

Options :

1. ¥ 3600 >UU
2. % 3200 2UQ
3. % 3500 2UQ
4. % 2800 %UQ

Question Number : 114 Question Id : 9679471326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the percentage of men living in five different states of India. If the total population of men in five states is 5600, what is the
population of men in Rajasthan?



Percentage of men out of the total
populationin all five states

Options :
1. ¥ 1680
2. % 1836
3. % 2971
4. % 1826

Question Number : 114 Question Id : 9679471326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 91¢ YR o Ui SeHT-31QT I8! § Xg- arel Gou1 & UT=Td &1 SRITdT ¢ | A Uid Ioal & Gou! 1 Hot SHRRSAT 5600 §, I ST &
T3 1 ST fhet 37




gt vm =l @ ga sAEen § 9
THul &1 ufa=rd

Options :
1. ¥ 1680
2. % 1836
3. % 2971
4. % 1826

Question Number : 115 Question Id : 9679471327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the percentage of students enrolled in different clubs of college. Find the total number of students enrolled in Sports and
Music. Given that the total number of students are 1260.



Percentage of students enrolled

Options :
1. % 479
2. % 374
3.¥ 756
4. % 384

Question Number : 115 Question Id : 9679471327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 91¢ HeTaarad & fafis aael & Amiferd S & Ufawd &1 g2iial g | ¥ $iR Tiiid § Amiferd 85 &t oo G Jd & | A o &
SHI B HA ABAT 1260 B




Options :
1. % 479
2. % 374
3.¥ 756
4. % 384

Question Number : 116 Question Id : 9679471328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the production of different crops (in degrees) in a state in one month. The total production of all the crops is 7200 kg. Find
the production of wheat in one month.



Production in degrees

Options :

1. ¥ 1734 kg
2. % 1245kg
3. ¥ 1440 kg
4. % 1735kg

Question Number : 116 Question Id : 9679471328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wgwnﬁﬁﬁwﬁﬁwwﬁ (&3 #) & Iare i cxfdr g | 9 wodl BT Hd SATEH 7200 ke | TH A H g BT ITeH
JTd hR




Options :

1. ¥ 1734 kg
2. % 1245kg
3. ¥ 1440 kg
4. % 1735kg

Question Number : 117 Question Id : 9679471329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bar Graph presents the percentage of marks obtained by a student in five different subjects. If the total marks of all the five subjects were
500, find the difference between the highest and lowest marks.



35 - 33
30 4
25 -

156 -
10 -

Marks obtained by students

Maths Physics Chemistry English Hindi
Subject

Options :
1. ¥ 105
2. % 110
3. % 85

4. % 246

Question Number : 117 Question Id : 9679471329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR U1 Ui Al fawal & U S §RT U 3idh! o1 =i TRgd &xdl ¢ | afe it uid fawdl & oa 3id 500 ¥, @ S=ad 3R g
3iP! & T BT 3R J1d B
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Options :
1. ¥ 105
2. % 110
3. % 85

4. % 246

Question Number : 118 Question Id : 9679471330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bar Graph shows the distance covered by a truck on five consecutive days. What is the ratio of distance travelled on 2nd and 3rd day to the
Ist and last day?



5th Day 15
4th Day 26

.. 3rd Day 16

Da

2nd Day 20

1st Day 23

] 5 10 15 20 25 30
Distance travelled in km

Options :

1. % 16:48
2. % 17:34
3.918:19
4. % 17:19

Question Number : 118 Question Id : 9679471330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R U T b gRT AR Ui &1 H 7 &1 718 g8 &1 e=iiar g1 23 3R R e ag &1 112 g8 &7 13 3R Sfast &1 & surd forn g2




sat fe 15
441 fé 26
‘E sufes 16
2w fa= 20
1 fa= 23
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km & 70 FHTE

Options :

1. % 16:48
2. % 17:34
3.418: 19
4. % 17:19

Question Number : 119 Question Id : 9679471331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the percentage of marks obtained by Priya and Pratik in five different semesters. Find the ratio of marks obtained by Priya in
3rd semester to the marks obtained by Pratik in 4th and 5th semester.



® Marks obtained by Pratik ™ Marks obtained by Priya
89

s 85

4 96
)
w
W, 83
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] 20 40 B0 20 100 120
Marks obtained

Options :

1.¥22:41
2. % 35:18
3.%19:28
4. % 16:49

Question Number : 119 Question Id : 9679471331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ui fafe IR H U 3R Udies gRT U 3ich! &1 Ufa<rd gxiidr g | foram gRT 33 IR’ H UT 3ih! &1 Udie gRT 49 3R 59 JHER
T UTeT 3! A SUTd 1 B |



120

Options :

1.¥22:41
2. % 35:18
3. % 19:28
4. % 16:49

Question Number : 120 Question Id : 9679471332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Profit earned by a company in five consecutive years is shown in the bar graph. The profit earned in 2018 is what percent of profit earned in
20167



2019
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2017

Year

as [
21 R s
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Profitin crores

Options :

1. # 63 percent

2. ¥ 78.08 percent
3. ¥ 57 percent

4. % 84.7 percent

Question Number : 120 Question Id : 9679471332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TP H Ueh HU-I gRT TR Ui g1 H ffofd A1H I <R TRT |1 2018 H Afofd @H 2016 H AT @H o1 fbam Ufawrd 82
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Options :

1. % 63 Ufa=rd
2. ¢ 78.08 U=
3. % 57 gfard
4. % 84.7 gfa=rd
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General English1

Section Id : 96794767
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Section type : Online
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Number of Questions : 20
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Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794779
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9679471333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

One of his first acts was to/ sign agreement that Mexico would repay/ France the entire cost of the war.
Options :

1. * One of his first acts was to

2. ¥ sign agreement that Mexico would repay

3. % France the entire cost of the war.

4. % No Error

Question Number : 121 Question Id : 9679471333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



One of his first acts was to/ sign agreement that Mexico would repay/ France the entire cost of the war.
Options :

1. % One of his first acts was to

2. ¥ sign agreement that Mexico would repay

3. # France the entire cost of the war.

4. ¥ No Error

Question Number : 122 Question Id : 9679471334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

John and me got busy/ just that afternoon/ when everyone was out.
Options :

1. ¥ John and me got busy

2. % just that afternoon

3. ¥ when everyone was out.

4. % No Error

Question Number : 122 Question Id : 9679471334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

John and me got busy/ just that afternoon/ when everyone was out.
Options :

1. ¥ John and me got busy

2. # just that afternoon

3. # when everyone was out.

4. ¥ No Error



Question Number : 123 Question Id : 9679471335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In 1779, Ludd is supposed/ to have broken two stocking/ frames in the fit of rage.
Options :

1. # In 1779, Ludd is supposed

2. % to have broken two stocking

3. ¥ frames in the fit of rage.

4. % No Error

Question Number : 123 Question Id : 9679471335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In 1779, Ludd is supposed/ to have broken two stocking/ frames in the fit of rage.
Options :

1. # In 1779, Ludd is supposed

2. % to have broken two stocking

3. % frames in the fit of rage.

4. % No Error

Question Number : 124 Question Id : 9679471336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



As each day brought more damage, even their/ darn hoof prints messing up the beds, Meghan and/ me would kvetch daily about our deer
problem.

Options :

1. #® As each day brought more damage, even their

2. # darn hoof prints messing up the beds, Meghan and
3. ¥ me would kvetch daily about our deer problem.

4. % No Error

Question Number : 124 Question Id : 9679471336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As each day brought more damage, even their/ darn hoof prints messing up the beds, Meghan and/ me would kvetch daily about our deer
problem.

Options :

1. ® As each day brought more damage, even their

2. % darn hoof prints messing up the beds, Meghan and
3. ¥ me would kvetch daily about our deer problem.

4. ® No Error

Question Number : 125 Question Id : 9679471337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The painted surface is splotchy, as/ if damp or abrased, and/ the piece as a whole is very subdued.
Options :

1. # The painted surface is splotchy, as

2. ¥ if damp or abrased, and

3. % the piece as a whole is very subdued.

4. ® No Error



Question Number : 125 Question Id : 9679471337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The painted surface is splotchy, as/ if damp or abrased, and/ the piece as a whole is very subdued.
Options :

1. # The painted surface is splotchy, as

2. % if damp or abrased, and

3. % the piece as a whole is very subdued.

4. % No Error

Question Number : 126 Question Id : 9679471338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It seems that 2003 is off to a good start as, this week, DJs big and small (will provide many a chances as tomfoolery) and monkey business.
Options :

1. ¥ will provide many a chance for tomfoolery

2. # would provide many the chances as tomfoolery

3. # could provide many a chances with tomfoolery

4. # No correction required

Question Number : 126 Question Id : 9679471338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It seems that 2003 is off to a good start as, this week, DJs big and small (will provide many a chances as tomfoolery) and monkey business.



Options :

1. ¥ will provide many a chance for tomfoolery

2. % would provide many the chances as tomfoolery
3. # could provide many a chances with tomfoolery

4. ® No correction required

Question Number : 127 Question Id : 9679471339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (company said it will also dispose 12,000 surplus freight) cars in an effort to reduce costs.
Options :

1. # company said it will also dispose the 12,000 surplus freight

2. # company said it will also have disposed 12,000 surplus freight

3. % company said it will also dispose of 12,000 surplus freight

4. # No correction required

Question Number : 127 Question Id : 9679471339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (company said it will also dispose 12,000 surplus freight) cars in an effort to reduce costs.
Options :

1. #® company said it will also dispose the 12,000 surplus freight

2. ® company said it will also have disposed 12,000 surplus freight

3. ¥ company said it will also dispose of 12,000 surplus freight

4. ® No correction required

Question Number : 128 Question Id : 9679471340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Candidates were asked (which nation, beside Canada, concerns them) the most.
Options :

1. #* what nations, beside Canada, concern them

2. ¥ which nation, besides Canada, concerns them

3. # what nation, beside Canada, concern them

4. # No correction required

Question Number : 128 Question Id : 9679471340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Candidates were asked (which nation, beside Canada, concerns them) the most.
Options :

1. * what nations, beside Canada, concern them

2. % which nation, besides Canada, concerns them

3. #* what nation, beside Canada, concern them

4. % No correction required

Question Number : 129 Question Id : 9679471341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As the chicken contemplated crossing (the road, she asked herself why.)
Options :
1. # the road, she asked herself why?



2. # the roads, she asks herself why.
3. % the road, she always asked herself why?

4. ¥ No correction required

Question Number : 129 Question Id : 9679471341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As the chicken contemplated crossing (the road, she asked herself why.)
Options :

1. #* the road, she asked herself why?

2. % the roads, she asks herself why.

3. # the road, she always asked herself why?

4. ¥ No correction required

Question Number : 130 Question Id : 9679471342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

But he moves beyond Austin and Searle's distinction between locution, illocution, and perlocution.
Options :

1. # dendrite

2. # contrite

3. ¥ tripartite

4. #* attrite

Question Number : 130 Question Id : 9679471342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



But he moves beyond Austin and Searle's distinction between locution, illocution, and perlocution.
Options :

1. # dendrite

2. # contrite

3. ¥ tripartite

4. #* attrite

Question Number : 131 Question Id : 9679471343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

There are amongst the constellations four great or serpent-like forms.

Options :

1. # cosmogonic
2. ¥ draconic

3. % catatonic

4. # polygenic

Question Number : 131 Question Id : 9679471343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

There are amongst the constellations four great or serpent-like forms.

Options :

1. # cosmogonic
2. % draconic

3. # catatonic

4. % polygenic

Question Number : 132 Question Id : 9679471344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Though Americans are notoriously , the plague of lawsuits is largely a myth.

Options :

1. % litigious
2. ® egregious
3. % prodigious

4. % contagious

Question Number : 132 Question Id : 9679471344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Though Americans are notoriously , the plague of lawsuits is largely a myth.
Options :

1. # litigious
2. # egregious
3. % prodigious

4. # contagious

Question Number : 133 Question Id : 9679471345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

This may have served the purpose of camouflage, making the animal more
Options :

1. # prestigious

2. # conspicuous

3. % inconspicuous



4. # ambiguous

Question Number : 133 Question Id : 9679471345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

This may have served the purpose of camouflage, making the animal more
Options :

1. # prestigious

2. % conspicuous

3. % inconspicuous

4. % ambiguous

Question Number : 134 Question Id : 9679471346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

After more natives

P. kill most of the natives
Q. Crusoe and Friday

R. a cannibal feast,

S. arrive to partake in

and save two prisoners.
Options :

1. ¥ SRQP

2. % PQRS

3. % RQPS

4. % SPQR



Question Number : 134 Question Id : 9679471346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

After more natives

P. kill most of the natives
Q. Crusoe and Friday

R. a cannibal feast,

S. arrive to partake in

and save two prisoners.
Options :

1. ¥ SRQP

2. % PQRS

3. % RQPS

4. % SPQR

Question Number : 135 Question Id : 9679471347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Romulus, Rome’s first king according to tradition, was the invention of later ancient historians.

P. His fictitious reign was filled with deeds expected of an ancient city founder and the son of a war god.

Q. His name, which is not even proper Latin, was designed to explain the origin of Rome’s name.

R. Thus he was described as having established Rome’s early political, military, and social institutions and as having waged war against
neighbouring states.

S. Romulus was also thought to have shared his royal power for a time with a Sabine named Titus Tatius.

The name may be that of an authentic ruler of early Rome, perhaps Rome’s first real king; nothing, however, was known about him in later
centuries, and his reign was therefore lumped together with that of Romulus.

Options :



1. ¥ PSQR
2. ¥ QPRS
3. % PSRQ
4. % RPQS

Question Number : 135 Question Id : 9679471347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Romulus, Rome’s first king according to tradition, was the invention of later ancient historians.

P. His fictitious reign was filled with deeds expected of an ancient city founder and the son of a war god.

Q. His name, which is not even proper Latin, was designed to explain the origin of Rome’s name.

R. Thus he was described as having established Rome’s early political, military, and social institutions and as having waged war against
neighbouring states.

S. Romulus was also thought to have shared his royal power for a time with a Sabine named Titus Tatius.

The name may be that of an authentic ruler of early Rome, perhaps Rome’s first real king; nothing, however, was known about him in later
centuries, and his reign was therefore lumped together with that of Romulus.

Options :

1. # PSQR
2. ¥ QPRS
3. ¥ PSRQ
4. % RPQS

Question Number : 136 Question Id : 9679471348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Many arguments from

P. both the Flood narrative



Q. establish that the deluge
R. Scriptural references,
S. itself, and from later

was indeed universal.
Options :

1. ¥ PSQR

2. % QPRS

3. % PSRQ

4. % RPQS

Question Number : 136 Question Id : 9679471348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Many arguments from

P. both the Flood narrative
Q. establish that the deluge
R. Scriptural references,

S. itself, and from later

was indeed universal.
Options :

1. # PSQR

2. % QPRS

3. % PSRQ

4. % RPQS

Question Number : 137 Question Id : 9679471349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.

The regal period (753—-509 BC) and the early republic (509-280 BC) are the most poorly documented periods of Roman history because
historical accounts of Rome were not written until much later.

P. Thus historical writing at Rome did not begin until after Rome had completed its conquest of Italy, had emerged as a major power of the
ancient world, and was engaged in a titanic struggle with Carthage for control of the western Mediterranean.

Q. During the last 200 years BC, 16 other Romans wrote similarly inclusive narratives.

R. Greek historians did not take serious notice of Rome until the Pyrrhic War (280-275 BC), when Rome was completing its conquest of Italy
and was fighting against the Greek city of Tarentum in southern Italy.

S. Rome’s first native historian, a senator named Quintus Fabius Pictor, lived and wrote even later, during the Second Punic War (218-201 BC).

All these works are now collectively termed “the Roman annalistic tradition” because many of them attempted to give a year-by-year account of
Roman affairs for the republic.

Options :

1. * RPSQ
2. % RQSP
3. #* PSRQ
4. ¥ RSPQ

Question Number : 137 Question Id : 9679471349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The regal period (753-509 BC) and the early republic (509-280 BC) are the most poorly documented periods of Roman history because
historical accounts of Rome were not written until much later.

P. Thus historical writing at Rome did not begin until after Rome had completed its conquest of Italy, had emerged as a major power of the
ancient world, and was engaged in a titanic struggle with Carthage for control of the western Mediterranean.

Q. During the last 200 years BC, 16 other Romans wrote similarly inclusive narratives.

R. Greek historians did not take serious notice of Rome until the Pyrrhic War (280-275 BC), when Rome was completing its conquest of Italy
and was fighting against the Greek city of Tarentum in southern Italy.

S. Rome’s first native historian, a senator named Quintus Fabius Pictor, lived and wrote even later, during the Second Punic War (218-201 BC).

All these works are now collectively termed “the Roman annalistic tradition” because many of them attempted to give a year-by-year account of
Roman affairs for the republic.



Options :

1. # RPSQ
2. % RQSP
3. ¥ PSRQ
4. ¥ RSPQ

Question Number : 138 Question Id : 9679471350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

facetious
Options :

1. ¥ amusing
2. % formal
3. % grave

4. ¥ propagate

Question Number : 138 Question Id : 9679471350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

facetious
Options :

1. ¥ amusing
2. % formal
3. % grave

4. # propagate

Question Number : 139 Question Id : 9679471351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is opposite in meaning (ANTONYM) to the word given below

gainsay
Options :

1. ¥ accept

2. % controvert
3. % repudiate

4. ¥ negate

Question Number : 139 Question Id : 9679471351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

gainsay
Options :

1. ¥ accept

2. # controvert
3. % repudiate

4. % negate

Question Number : 140 Question Id : 9679471352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

hackneyed
Options :

1. # cherish
2. # disparity
3. ¥ stale

4. ¥ amorphous



Question Number : 140 Question Id : 9679471352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning (SYNONYM) to the word given below

hackneyed
Options :

1. # cherish
2. # disparity
3. ¥ stale

4. % amorphous
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Question Number : 141 Question Id : 9679471353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

iconoclast
Options :

1. ¥ believer
2. # eloquence
3. # cynic

4. % critic

Question Number : 141 Question Id : 9679471353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

iconoclast
Options :

1. ¥ believer
2. % eloquence
3. % cynic

4. * critic

Question Number : 142 Question Id : 9679471354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below



magnanimity
Options :

1. # disperse
2. # selfish

3. ¥ chivalry
4. # hyperbole

Question Number : 142 Question Id : 9679471354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

magnanimity
Options :

1. # disperse
2. % selfish

3. % chivalry
4. # hyperbole

Question Number : 143 Question Id : 9679471355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ fortutous

2. # harangue

3. % indebted

4. % mercurial

Question Number : 143 Question Id : 9679471355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ fortutous

2. # harangue

3. #* indebted

4. % mercurial

Question Number : 144 Question Id : 9679471356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % precarous

2. ¥ precarious

3. % precerious

4. # precerous

Question Number : 144 Question Id : 9679471356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #¥ precarous

2. ¥ precarious

3. % precerious

4. ® precerous

Question Number : 145 Question Id : 9679471357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :



1. # pragmatic
2. ¥ presumptious
3. % propriety

4. % gsalubrious

Question Number : 145 Question Id : 9679471357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # pragmatic

2. ¥ presumptious

3. # propriety

4. % galubrious

Question Number : 146 Question Id : 9679471358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ saitate

2. % sitate

3. % saiate

4. ¥ satiate

Question Number : 146 Question Id : 9679471358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # saitate

2. % gsitate



3. * saiate
4. ¥ satiate

Question Number : 147 Question Id : 9679471359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # volatile

2. # untenable

3. % transeint

4. # torpor

Question Number : 147 Question Id : 9679471359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. % volatile

2. % untenable

3. ¥ transeint

4. % torpor

Question Number : 148 Question Id : 9679471360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A wolf in sheep’s clothing
Options :
1. # In the order of; on the authority of

2. % When you are mistreated the same way you mistreat others



3. ¥ Fair and honest

4. ¥ A dangerous person pretending harmless

Question Number : 148 Question Id : 9679471360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A wolf in sheep’s clothing

Options :

1. # In the order of; on the authority of

2. # When you are mistreated the same way you mistreat others
3. # Fair and honest

4. ¥ A dangerous person pretending harmless

Question Number : 149 Question Id : 9679471361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Cut to the chase

Options :

1. ® Someone who isn’t adequate enough to compete or participate
2. ¥ Leave out all the unnecessary details and just get to the point
3. % To make someone laugh

4. % An unbelievable tale, untrue story

Question Number : 149 Question Id : 9679471361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Cut to the chase



Options :

1. ® Someone who isn’t adequate enough to compete or participate
2. ¥ Leave out all the unnecessary details and just get to the point
3. # To make someone laugh

4. ® An unbelievable tale, untrue story

Question Number : 150 Question Id : 9679471362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Fire and brimstone

Options :

1. # An enjoyable day or circumstance

2. ¥ Referring to hell and how they think people are punished there after death.
3. # A very tasty food or meal

4. % To become more comfortable in whatever you are doing

Question Number : 150 Question Id : 9679471362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Fire and brimstone

Options :

1. # An enjoyable day or circumstance

2. ¥ Referring to hell and how they think people are punished there after death.
3. % A very tasty food or meal

4. % To become more comfortable in whatever you are doing

Question Number : 151 Question Id : 9679471363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

Hit below the belt

Options :

1. ¥ Contrary the principles of fairness

2. % An expression of comfort

3. % A person who is always willing to volunteer or do extra work.

4. ® To force an issue that has already ended

Question Number : 151 Question Id : 9679471363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Hit below the belt

Options :

1. ¥ Contrary the principles of fairness

2. % An expression of comfort

3. # A person who is always willing to volunteer or do extra work.

4. % To force an issue that has already ended

Question Number : 152 Question Id : 9679471364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

The arrangement of events or dates in the order of their occurrence
Options :

1. # Anthropology

2. % Ethnology

3. ¥ Chronology

4. ® Terminology



Question Number : 152 Question Id : 9679471364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

The arrangement of events or dates in the order of their occurrence
Options :

1. # Anthropology

2. % Ethnology

3. % Chronology

4. # Terminology

Question Number : 153 Question Id : 9679471365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A group of followers hired to applaud at a performance
Options :

1. # Creche

2. ¥ Claque

3. % Crusade

4. # Cynosure

Question Number : 153 Question Id : 9679471365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A group of followers hired to applaud at a performance
Options :

1. # Creche

2. ¥ Claque



3. # Crusade

4. # Cynosure

Question Number : 154 Question Id : 9679471366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Kindness shown to somebody when they are being punished
Options :

1. ¥ Clemency

2. % Caucus

3. % Caravan

4. % Cluck

Question Number : 154 Question Id : 9679471366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Kindness shown to somebody when they are being punished
Options :

1. ¥ Clemency

2. % Caucus

3. % Caravan

4. % Cluck

Question Number : 155 Question Id : 9679471367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Examples that represent or express something very well



Options :

1. % Epoch
2. % Epigraph
3. % Epitome
4. ® Epitaph

Question Number : 155 Question Id : 9679471367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Examples that represent or express something very well

Options :

1. # Epoch

2. % Epigraph

3. % Epitome

4. # Epitaph

Sub-Section Number : 2
Sub-Section Id : 96794781
Question Shuffling Allowed : Yes

Question Id : 9679471368 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the given questions.

University Entrance Examination is very important in Vietnamese students. High school graduates have to take it and get high results to be
admitted to universities. The pressure on the candidates remains very high despite the measures that have been taken to reduce the heat around
these exams, since securing a place in a state university is considered a major step towards a successful career for young people, especially those
from rural areas or disadvantaged families. In the year 2004, it was estimated that nearly 1 million Vietnamese students took the University
Entrance Examination, but on average only 1 out of 5 candidates succeeded. Normally, candidates take 3 exam subjects, and each lasts; 180
minutes for the fixed group of subjects they choose. There are 4 fixed groups of subjects: Group A: Mathematics, Physics, and Chemistry; Group
B: Mathematics, Biology, and Chemistry; Group C: Literature, History, and Geography; Group D: Literature, Foreign Language, and
Mathematics.

In addition to universities, there are community colleges, art and technology institutes; professional secondary schools, and vocational schools



which offer degrees or certificates from a-few-month to 2-year courses.

According to Vietnam's Ministry of Education and Training, there are currently 23 non-public universities, accounting for 11% of the total
number of universities. These non-public universities are currently training 119,464 students, or 11.7% of the total number of students. The
government is planning to increase the number of non-public universities to 30% by 2007.

Sub questions

Question Number : 156 Question Id : 9679471369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 2004 how many Vietnamese students took the University Entrance Examination?
Options :

1. #* 2 Million

2. % | Million

3. # 5 Million

4. % 3 Million

Question Number : 157 Question Id : 9679471370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum exam subjects one has to take in the University Entrance Examination?
Options :

1.¥3

2.% 4

3.%5

4. %2

Question Number : 158 Question Id : 9679471371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, out of all the students who take the University Entrance Examination how many succeed?
Options :

1. # 0.1

2. % 0.15



3.40.2
4. % 0.25

Question Number : 159 Question Id : 9679471372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # University Entrance Examination puts a lot of pressure on the high school students appearing for it.
2. # There are currently 23 non-public universities in Vietnam.

3. % One is eligible for University Entrance Examination after graduating high school

4. % In University Entrance Examination every student gets to choose from a classification of 3 fixed groups of subjects.

Question Number : 160 Question Id : 9679471373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the 4 fixed groups of subjects, which of the following mentioned subject is not in any classified group?
Options :

1. # Maths

2. ¥ English

3. % Literature

4. % History

Question Id : 9679471368 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the given questions.

University Entrance Examination is very important in Vietnamese students. High school graduates have to take it and get high results to be
admitted to universities. The pressure on the candidates remains very high despite the measures that have been taken to reduce the heat around
these exams, since securing a place in a state university is considered a major step towards a successful career for young people, especially those
from rural areas or disadvantaged families. In the year 2004, it was estimated that nearly 1 million Vietnamese students took the University
Entrance Examination, but on average only 1 out of 5 candidates succeeded. Normally, candidates take 3 exam subjects, and each lasts; 180
minutes for the fixed group of subjects they choose. There are 4 fixed groups of subjects: Group A: Mathematics, Physics, and Chemistry; Group



B: Mathematics, Biology, and Chemistry; Group C: Literature, History, and Geography; Group D: Literature, Foreign Language, and
Mathematics.

In addition to universities, there are community colleges, art and technology institutes; professional secondary schools, and vocational schools
which offer degrees or certificates from a-few-month to 2-year courses.

According to Vietnam's Ministry of Education and Training, there are currently 23 non-public universities, accounting for 11% of the total
number of universities. These non-public universities are currently training 119,464 students, or 11.7% of the total number of students. The
government is planning to increase the number of non-public universities to 30% by 2007.

Sub questions

Question Number : 156 Question Id : 9679471369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 2004 how many Vietnamese students took the University Entrance Examination?
Options :

1. * 2 Million

2. % 1 Million

3. * 5 Million

4. * 3 Million

Question Number : 157 Question Id : 9679471370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum exam subjects one has to take in the University Entrance Examination?
Options :

1.¥3

2.% 4

3.%5

4. % 2

Question Number : 158 Question Id : 9679471371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, out of all the students who take the University Entrance Examination how many succeed?
Options :



1. # 0.1
2. %0.15
3.¥40.2
4. % 0.25

Question Number : 159 Question Id : 9679471372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # University Entrance Examination puts a lot of pressure on the high school students appearing for it.
2. ® There are currently 23 non-public universities in Vietnam.

3. ® One is eligible for University Entrance Examination after graduating high school

4. ¥ In University Entrance Examination every student gets to choose from a classification of 3 fixed groups of subjects.

Question Number : 160 Question Id : 9679471373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the 4 fixed groups of subjects, which of the following mentioned subject is not in any classified group?
Options :

1. ¥ Maths

2. ¥ English

3. # Literature

4. ® History

General Hindil
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Question Number : 161 Question Id : 9679471374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foreal ° T, 39 ey &1 Tg &1 ot feu U 9t IfY fowe &) 9fY &1 98l e g1

&IE[+GIT'T
Options :
1. % 3Ed
2. % 3f4d
3. % 3ffa
4. ¥ 35l

Question Number : 161 Question Id : 9679471374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR foel ° T, 39 ey &1 Ta &1 ot feu U 9t IfY fowe &) 9fY &1 98l e g1

&IE[+GIT'T
Options :
1. % 3Ed
2. % 3f4d
3. % 3ffa
4. ¥ 35l

Question Number : 162 Question Id : 9679471375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad uy & IR fowedl § T, 39 fawey &1 Tua &3 ot T U Wsg & T8t Y fawse o1 fasea 31

et
Options :
1%t +F
2. % g+
3. % dig+ 3
4.+ UG +4

Question Number : 162 Question Id : 9679471375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaliad Uy & IR foeeal ° T, 39 ey &1 Tu &1 ot feT U Wsg & Tt I fawse o1 fapeu 21

farer
Options :
L% dff+d
2. % fid+4d




3% ig+ 7
4. ¢ g +4

Question Number : 163 Question Id : 9679471376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy 1, IR fasedl B 9, 39 fdded &1 9g- & ol faT U Weq & ot gt fg7] Iur & faug o1 fddbeu 8|
TAYs -

Options :

1. % 1d a8l 1 Ad

2. % Id 1Yl 1 dd

3. ¢ T A GIg1 T IHBR
4. % Id G5 BT T

Question Number : 163 Question Id : 9679471376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadbedl # 9, 39 fddbed &1 98 D Wil U T e & forw wgl g7 TH4 & faus &1 fadbed 5|
TAYs -

Options :

1. % g1 alel BT A

2. % Jrq WYsfi 1 ad

3. ¥ A 1 <18! Bl THER
4. % 1A Q181 BT IE

Question Number : 164 Question Id : 9679471377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR dwedl 7 9, 39 fawed &1 997 &< S ST T 99 Ueg &1 ot [dbed gl

Options :




1. ¢ 3T
2. % A&
3. % 3
4. % ST

Question Number : 164 Question Id : 9679471377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8§, IR fawedl & 9, 39 fddhed &1 99 & Al SUN U 4 Xeg b ol [ddhed 51|
Options :

1. ¢ 3G

2. % Tgh

3. % Wi

4. % §TAl

Question Number : 165 Question Id : 9679471378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawedl | 9, 39 [9aed &1 99+ &< off Td ¥ 8 RMeg &1 95! [ddhed 51|
Options :

1. % ITATAY

2. SO

3. % 394

4. % AT

Question Number : 165 Question Id : 9679471378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufcRad Uy |, IR fddeul 7 ¥, 39 fdwed &1 999 B3 ol U0d O 8§ e, &1 Yol [dbed ol
Options :

1. % I




2. STaET
3. % 3T
4. % IR

Question Number : 166 Question Id : 9679471379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal A 9, 39 faweu &1 97 &8 St SISl Usg BT ot f[dbeu gl

Options :

1. % 3R

2. % THIHI
3.¢ &

4, % TgdlH

Question Number : 166 Question Id : 9679471379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [9ded &1 997 &< ol oR1ol Xeg T g1 [aded gl
Options :

1. % 3R

2. % SXIIBT

3. ¢ 3

4, % UgdH

Question Number : 167 Question Id : 9679471380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR foe el § 9, 39 fah et o1 I8 &Y Ol SXIol Ueg b1 et f[dbed gl
Options :

1. ¢ oU™g

2. % 3Rd




3. % pf

4. % g}

Question Number : 167 Question Id : 9679471380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed uy §, IR fawcdl 8 9, 39 [9dmed &1 997 Y S <RI Meg 71 Igt [adbed gl
Options :

1. ¢ U

2. % 3Rd

3. % pl

4. % IR

Question Number : 168 Question Id : 9679471381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy, IR fasedl & ¥, 39 fdwed &1 o &8 o Afdaras foeanfaxivo &1 9g! fddbed 81|
Options :

1. % 3 fqafaard ¢u & R ¥ AeaT gtea 71

2. ¥ U8 9Yd 5! 98¢ HOR ¢

3. % 98 fTgH TIgR I HIA G|

4. % U Uik hUe Mgyl

Question Number : 168 Question Id : 9679471381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us H, IR fadedl § 9, 39 [ddhed &1 78 B Sl Afdares fharfa=ivo &1 98! fdhed 3|
Options :

1. % 2 fqafaarnd ¢gu § R ¥ AeaT gRea g1

2. ¢ U8 YA §1 98¢ FoR g

3. % 9g 3 IR Y YA 7|




4. ® T HicY HUST AU

Question Number : 169 Question Id : 9679471382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied we o, IR fadwenl O 9, 39 [adhed &1 797 - S faU U Xsg T & ol 3 &1 famed gl

ol -Hol

Options :

1. ¥ g, WX

2. % gobdM, THT SOl
3. % I, T

4. ¢ JhdH, Ul

Question Number : 169 Question Id : 9679471382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O, aR fowed! & 4, 39 fdewed &1 99 &< Sl faU TU 2rsq g™ & Tal 31 &1 fawea 3l

ol -Hol

Options :

1. % g, R

2. % b dlH, T I
3. % M, qd

4. ¢ UhdH, Udl

Question Number : 170 Question Id : 9679471383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, IR fadwenl O 9, 39 [adhed &1 797 & S faU ¢ Xsg g1 & a1 3 &1 famed gl
forfRy - offcht




Options :

1. ¢ dldR, &3

2. % g, ARoft

3. % gag, Rl
4, % ddl, sX

Question Number : 170 Question Id : 9679471383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & ¥, 39 fawey &1 999 &1 il foU T8 Wrse g1 & Tat o1 &1 fawea 31
fyfy - oftcht

Options :

1. ¢ dlaR, X

2. % 3, ROt

3. % Gag, Rert
4, % dIl, 8%

Question Number : 171 Question Id : 9679471384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 el [amed &1 99+ & S Rad RIF & o Iugad e &1 el [dbed g
foeeg ue gl

Options :
1. % Ty

2. ¥ URAR
3. % fRrem
4, % H

Question Number : 171 Question Id : 9679471384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 el [admed &1 99+ & Sl Rad RIF & o I0gad e &1 el [dbed g
foeeg ue g gl

Options :
1. % Ty

2. ¥ URAR
3. % fRrem
4, % H

Question Number : 172 Question Id : 9679471385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & IR fawed # 9, 39 el fawed &1 997 & S Rad RIM & o Iuged et &1 el fdwed 3|
Tpfaeq AFAEN

Options :
1. % g
2. % 9H
3. ¢ YR
4. % 4d

Question Number : 172 Question Id : 9679471385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawed § 9, 39 el [amed &1 99+ & S Rad RIF & o Iugad e &1 el [dbed g
VST qTgl

Options :
1. % g
2. % {H
3. ¢ GWHR




4. % gd

Question Number : 173 Question Id : 9679471386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawel # 9, 39 fawed &1 T B Sl ek &1 Y ©U & ol [dbed g |
Options :

1. ¥ ST

2. % YIYAT

3. % 3fI9a

4. % FERANTA

Question Number : 173 Question Id : 9679471386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9, 39 fawed &1 70 &L Sl ek &1 g ©U & Ja! [dhed g
Options :

1. ¢ DS

2. % YIYAT

3. % 3Jeq

4, % FERINTA

Question Number : 174 Question Id : 9679471387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fosedl & T, I fawed &1 999 &3 Sl Ueg &1 Y €U & Ta! [dbed g
Options :

1. % P

2. ¢ WHedl

3. % fARfe

4. % el




Question Number : 174 Question Id : 9679471387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § T, I faswey &1 999 &3 Sl Ueg &1 g U & Ta! [dbed 7
Options :

1 % 3P

2. ¥ Wadl

3. % fRfer

4. % 3fferd

Question Number : 175 Question Id : 9679471388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeeal ° T, 39 ey &1 Ta &1 oY T 7TV a1t & folu Ue Wsg 1 I8! fAdbeu gl

fOTIST HTNT gRT 9l 3RHT 8T —
Options :

1. % 3Heu-rg

2. % YUY

3. 3T

4. % 3

Question Number : 175 Question Id : 9679471388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fawcu &1 987 &% ot feT 7T areizi & ol Ush Yeg &1 et by g1

fOTRIHT HTHT GRT JUH SEHT BT —
Options :

1. % 3peuHig

2. % Ui




3.  fAda-
4. % 3T

Question Number : 176 Question Id : 9679471389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeeal ° T, 39 ey &1 Tg &1 ot feT ¢ a1t & folu Ue Wsg 1 8! fAbeu gl
g% geamer i sifbag—

Options :

1. % GEAIGRDA!

2. ¢ SHUIBEAIERD
3. % HfUGEIERD Al
4. % J[EOTCT

Question Number : 176 Question Id : 9679471389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR eeal 7 9, 39 fawcu &1 987 &% ot feT 7T areizi & ol Ush Yec &1 et fAbeu g1
foraes gEaTer i Sifpa s

Options :

1. % GEIERDAI

2. ¢ HUIGHIIERGBl
3. % SffUgTAIERG Al
4. % J[eOTET

Question Number : 177 Question Id : 9679471390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy &, IR foecdl 7 9, 39 fdh ey &1 98 B3 o) 3T U e &1 T) faehH Tee 2




sifaw
Options :

1. ¥ URfH&
2. % Had

3. % 0T

4. % g

Question Number : 177 Question Id : 9679471390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foweal & T, 39 ey &1 Tg &1 ot feT TN Wsg 71 I8! faeH Xeg |
3ifaH

Options :

1. ¢ URIYS

2. ® gad

3. % T

4. % Y

Question Number : 178 Question Id : 9679471391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR eeal 7 9, 39 9 &1 987 &% ot 2T 7T Yeg 1 I8! gaigareh Tsg g
LR

Options :
1. % TRR
2. % S
3. % faud
4. % DR



Question Number : 178 Question Id : 9679471391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foliad Uy & IR fopeal & T, 39 ey &1 Tg &L & feT TN Wsg 71 I8! gaigar Tss 2|
LR

Options :
1. % TRR
2. ¥ S
3. % faua
4. % DR

Question Number : 179 Question Id : 9679471392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR eedl 7 9, 39 9 cd &1 9897 &Y oY faU 70 91 & UPR & U< o1 Jet [ddbed g
d18! g9 98 33T Wl |

Options :

1. % Jhddad

2. % foymaras

3. % fAvyarE®

4. ¢ fq@gTfearas

Question Number : 179 Question Id : 9679471392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 faw e &1 997 &% S feU 70 a1 & UPR & U< ol Jgt fAbeu g

~

d1g! gH dgd 3T Wd |
Options :

1. % hddrad




2. % fayraE®
3. % [uYarE®
4. ¢ fawiidaras

Question Number : 180 Question Id : 9679471393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR ieeal 7 9, 39 fawed &1 997 &< S 3T 70 a1 & UBR & Ue &l Jgt fAdbeu 5|
S R 7T i 8, # Sq IHdT |

Options :

1. % IR I

2.« iy are

3. % JYad ar

4. % Ydgarad ared

Question Number : 180 Question Id : 9679471393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reedl 7 9, 39 9w cd &1 9897 &Y oY feU 70 91 & UBR & U< o1 Jet Ay g
ot R =T i g, T S SFar g |

Options :

1. ® I IR

2. ¢ Ty a1y

3. % JYId aI

4. % Jcgdrded arH

General Hindi2
Group Number : 10



Group Id : 96794770

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 96794770

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 96794783

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679471394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeal °§ T, 39 ey &1 Ta &1 oY T TN 9190 & HTd & Ne &1 I8! [Abeu gl
G & alarsil 3|

Options :

1. % 3qUf YddbTa
2. % i gaqE H1d
3. ¢ U Hid=dq dhIad




4. % 3qUl gHHSTA

Question Number : 181 Question Id : 9679471394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad uy & IR foeal ° T, 39 ey &1 Ta &1 ot feT U 9190 & HTd & Ne &1 I8! [Abeu gl
G Hd alarsit |

Options :

1. % 3qul Yd&dTa

2. % Tfery gaqH BT
3. ¢ U Hidsdq dhIad
4. % 3qUl gHHSIA

Question Number : 182 Question Id : 9679471395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy A, IR el 7 9, 39 fah ey &1 997 &% &l feT W a1e & &1d & Ne &1 Jel f[abeu gl

YT T T T UT|
Options :

1. ¢ Ul Yddb1a
2. % 3ol gdAA®HE
3. % g Hidwd S

4. % 3quf Ydpra

Question Number : 182 Question Id : 9679471395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad uy & IR foweal ° T, 39 ey &1 Taa &1 oY feT U 9199 & HTd & Ne &1 I8! [dbeu gl

HHG QT GT b1 UT|




Options :

1. ¢ Ul Yddb1a

2. % 3ol gdHA®HE
3. % g Hidwd ST
4. % 3quf Ydprd

Question Number : 183 Question Id : 9679471396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawenl § 9, 39 fawey &1 7o 3 S fou 10 ared & gy & e &1 981 fawe §1
W fhbe WA @I 8|

Options :

1. % faegd

2. ¢ Fyardaiy®
3. % Jogrd

4. % Jpard

Question Number : 183 Question Id : 9679471396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy & IR fawed 8 9, 39 fadhed &1 98 &< off U T8 a1 & i & e &1 Je! [ddhed g
IR fohdre WA @I 8|

Options :

1. ® faegd

2. ¢ FRgardeiys
3. % ogrd

4. % Tpard

Question Number : 184 Question Id : 9679471397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 999 o Al YG a1 &1 95! fadbed 5|
Options :

1. #® Yd% A WY &I ¢/l g

2. % TS A WU H @ g

3. % Y% A™ WY &1 ¢Edl g

4. ¢ G A WY T 3 |

Question Number : 184 Question Id : 9679471397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy o, 9R fadedl § 9, 39 faded &1 98- & Sl Y 91 1 g f[dbed 5|
Options :

1. % TS I WY $I ol ¢ |

2. % JdH A WY H# STl g |

3. % Ud® A9 WU Hl cEd g |

4. YAS A WY X/l g |

Question Number : 185 Question Id : 9679471398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ercal 7 9, 39 f9hcu &1 987 &% &l feU 7T 9/ & Ul & 9 &1 98! [ g
IRA SIS g8l

Options :

1. ¢ qofdrede
2. ® AT id®

3. % Jgigeis
4, % 3ITTID

Question Number : 185 Question Id : 9679471398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafiiad Uy & IR foeeal ° T, 39 ey &1 Tu &1 &Y feT U 9199 & & & Y o1 et fdheu g
i s g1 B

Options :

1. ¢ QUiArRIAa®
2. % TIfd AP
3. % JgRigeIs
4. % IAH

Question Number : 186 Question Id : 9679471399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal 7 9, 39 9w cu o1 97 &% & feT 7T 9/ & U & 9 &1 98! [ g |
W fEAWR Werar Jgdr ot 9t odten & Tt gl

Options :

1. % gofdrnde®

2. % qAGEIYD
3. ¢ D
4. % RYYdH

Question Number : 186 Question Id : 9679471399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiiad Uy & IR foeedl ° T, 39 ey &1 Tu &1 &l feT U 9190 & & & Y o1 et fdheu g
Y fETHR Wedr zgan ot aft udten & tha g

Options :

1. % gUidrRIAa®
2. % FIATdYd




3.« D
4. % IRYIYIdD

Question Number : 187 Question Id : 9679471400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawedl & 9, 39 [9aed &1 99+ &< off fav™ fug gad a1 &1 el fddbed 5|
Options :

1. ¢ "Y1 " HERTS A Db hr T- "SRR §1d 1 82"

2. % BT AT? AERIS - AHdR 1- SRR &1 1 52"

3. % 5T G? HERTS A AHHR GBT- "SRR &1 FT 82

4. % B U2 AERIS A AR YT- "SRR I1d a1 8"

Question Number : 187 Question Id : 9679471400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawedl & 9, 39 [daed &1 99+ &< off fav™ fug gad a1 &1 el fddbed 5|
Options :

1. ¥ "B 2" HERTS A Wb YBT- "SRR S o1 g2

2. % BT A2 HERIS A AHaR - TR &1 1 82"

3. % Y12 HERIS A A IB1- "SRR §1d &1 82

4. % HIYR? HERTS! - AbhR YBT- "SRR a1 1 8"

Question Number : 188 Question Id : 9679471401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed gy o, IR fawedl o 9, 39 fdaed &1 99+ &< it favd fug o aTe &1 9g! fadbed 6|
Options :

1. % T BT, HT A A, $& U U T 8] 311 g7 T

2. % I HAI KT F HRal, $S H T H g1 317 T AT

3. % 1 Hl, 1 Bl $S H G0 H g1 3111 ol




4. T HAT, R BT, $& U G0 T =181 311387 4T

Question Number : 188 Question Id : 9679471401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawedl § 9, 39 fadwed &1 7a- &1 off fov™ g gad e &1 el fawed g |
Options :

1. % 1R, 1A Bl & W 0 T a1 3T IgT AT

2. % I R T 9 DRl H 1 TG0 T 51 37 5T T

3. % I HCl, T Hdl, $S H 0 T =51 311 3T ol

4. T HAT, T B, o U G0 T a1 31187 AT

Question Number : 189 Question Id : 9679471402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl & 9, 39 [daed &1 99+ &< off favd fug o a1 &1 gl fadbed 5|
Options :

1. % TP g gl off W1 §:.[bay I g, 39 3! 1 Aaas?

2. % DI E Hal ST IBT &, (b Hadl g, T AUD! 1 AdAa?

3. ¥ DR, Hal o1 @1 &, [ fadl §, 399 U o Adaa?

4. % O g, Hel ol W8T 5, (o FIardl §, S99 3HUeh! o1 Aaad

Question Number : 189 Question Id : 9679471402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawedl o 9, 39 fdded &1 99+ &< it favd fug o a1 o1 9g! fadbed 5|
Options :

1. % TDHE Dgl ol 381 5.Iha FHadT §, ST MU T Aada?

2. % AP g Hal ol X8 &, [ha {edl §, TN 3MUh! o Haa?

3. ¥ UDHE, Hal o1&, [pa Firear g, 399 3! 31 Aaaa?

4. % TP G, Hel ol 381 5, o fadT §, S99 3MUeh! o1 Adad




Question Number : 190 Question Id : 9679471403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy A, IR el 7 9, 39 fawcu &1 97 &% &t feu 71 Aieifad o1 gt 31 arerr fapea g |
&% & dol o UTd

Options :

1. % Udh YJHIA Y5-Il
2. % IR Xg Sl
3. % Udeh! &1

4. % YYHIG STHAT

Question Number : 190 Question Id : 9679471403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR iecal 7 9, 39 fahcu o1 997 &3 & feT 71 Aieifad o1 gt 31 ararr fape g
@I% & dgl o< aTd ;

Options :

1. % Udh HIA Yg-l
2. % I g oIl
3. % Gahl §Td

4. % YYIG STHT

Question Number : 191 Question Id : 9679471404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR ieeal 7 9, 39 fawcu &1 9g7 &% &t feu U Aieifad o1 gt 31 arerr fapea g |
Sty ft STeft 3R Tare ot 7 U

Options :




1. % Tl DRAT

2. ¢ AT i g% 3tk ary ot 76T fra
3. % QY THYU BT 1A HRAT

4, % Y IR T

Question Number : 191 Question Id : 9679471404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 faweu &1 97 &% &t fou U Aeifad o1 gt 31 arerr fapea g |
Sty ft STeft 3R Tare ot 7 urn

Options :

1. % T HAT

2. ¢ g oft g3 iR Ay off & fram
3. % QY THY DT T BT

4. % YT IR T

Question Number : 192 Question Id : 9679471405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fahca &1 987 & &t feu 71 Aeifad o1 gt 31 arerr fapea g |
SId-UTd § GG -

Options :

1. % JORTe FARIRTY TR SIY TIY

2. % Pl AT B, gERI | aIY HepTer
3. « 3 ST SIS aran

4. % FAAH J R 78! AT IR

Question Number : 192 Question Id : 9679471405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifed uy §, IR eeal 7 9, 39 fahcu &1 987 & ot feu U Aeifad o1 gt 31 arerr fapea g |
SId-UTd § G -

Options :

1. % OReft FPRURTY R gV e

2. % B Al AT 9 8, gOR) 4 &Y faprern
3. « 3 ST SIS aran

4. % A Y R 8] BT AT

Question Number : 193 Question Id : 9679471406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, oR fowenl O 9, 39 fadhed &1 707 & Sl < 718 GgTaR &1 e 3 g [dsed g |
oY GIeAT -

Options :

1. % U gal

2. ¥ J HTH HIAI

Question Number : 193 Question Id : 9679471406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy &, IR fawedl B Q, 39 fadwen &1 w9 & S <1 12 geTa &1 Igt o arett fadweu 71
I @Il -

Options :
1. % 9 g
2. ¥ 8 hIH DAl

3. % gué PRl

4. % TG §HT




Question Number : 194 Question Id : 9679471407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy &, IR fawedl B Q, 39 fadwen &1 wg9 & S <1 112 geTak &1 It o arett fadweu B

forel} S/ ST -

Options :

1. ¢ 83 b HRUN A A e
2. % DY Hgd U R

3. % QR

4. % oG <1

Question Number : 194 Question Id : 9679471407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad ve o, TR fowenl O 9, 39 fadhed &1 707 & S < 718 GgTaR &1 et 3 g fdhed g |

Torel} =/ ST+ -

Options :

1. ¢ 8 & HRUT JHTATS 7 Febetr
2. % HY Ygd gU IR

3. % QR

4. % gfergM <A1

Question Number : 195 Question Id : 9679471408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy &, IR fawedl B Q, 39 fadwen &1 Tga & S <1 112 geTa &1 Igt o arett fadweu B
ial T Sl -

Options :



1. ® QY ¢l
2. % S Hea
3. ¢ g T Ryd
4. % ¢RgT AT

Question Number : 195 Question Id : 9679471408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fowenl # 9, 39 fadhed &1 7097 & Sl < 718 GgTdR &1 e 3 g [dsed g |
7e T Sl -

Options :

1. % QY GAl

2. % B Fapa

3. GO a1 Ryd

4. % GGl

Sub-Section Number : 2
Sub-Section Id : 96794784
Question Shuffling Allowed : Yes

Question Id : 9679471409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafRad e 1 ufey ofR faw g usi & IR i

ﬁ%mwﬁﬁaﬁga?ﬁua?ﬁw R AT, TET AeTgS! FHAT AT § IR AT h Bl Sirell 81 ST IS 3R gl
RIGRIATHR AR GId ST, §9eh] g HIG-HTT, Zeh1 I8 Sl el a4 &l SIdl & Ha H ofx? fhdl aed! & o # ¢@dT g, fhdl
el R ST BRT €I 3e ST R, a'q’lﬁmﬁ?%ﬁgeﬁ?ﬁwﬁ@m 11 f 39 afedl o1 Srerelia g Wad-Wdd oid d SR
R o St § A 2aeR, 9, WY, MR, Thal, od & SiTdl § Ugdds XIS 36 sid ald 16 B BI AT e SITdT g1 | S S,

%w%&wﬁwaﬁﬁémmmwmvaﬁﬁ@ﬁﬁ@wq@qﬁwﬁﬁwﬁ%%ﬁwsﬁ?
X[ &l KM 5?

Sub questions




Question Number : 196 Question Id : 9679471410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ISE B ATIR TGS g F U1?

Options :

1. % e BT Yid T <G B

2. % UGIS] I <@ I

3. % fafia geff & TR

4. ¢ A BT HEH H fTd B I U @

Question Number : 197 Question Id : 9679471411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ¥ afeal f5a weT T 82
Options :

1. % fgHTerg &l

2. ¢ el Bl

3. % U e bl

4. % Al Bl

Question Number : 198 Question Id : 9679471412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RaH BT DIGEd IR [ T H Udid aIdl 82
Options :

1. el BT o1t el 4@ PR

2. % Pl Bl ¢ IR

3. % B Tl DI G- B

4. % YpHid DI TGDHR

Question Number : 199 Question Id : 9679471413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A H Y o 91 fowg &1 ydar 981 ]
Options :

1. ¢ geT

2. % SR

3. % qd

4. % 3y

Question Number : 200 Question Id : 9679471414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 3Rt Fewe sfedl & fom RR yFar wgar g2
Options :

1.  fgHTer

2. % g3l gt Afear

3. % dig

4, % qdaR

Question Id : 9679471409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

fafafad Ty 1 ufew 3R faw 7T v & IR i

ﬁ%mmﬁm%’rga?ﬁua?ﬁmﬂ el T, Te) FAge! qHeel BT H IR [Tl & B A 81 37ebT ST 3R Hl,
RITRIATHR TR §4d ST, 3! I HId-HTR, 3661 I8 Il el TMad 8l Sl § He H Sax? fhdt agot & o # d@ar g, fedt
ao—cﬁqwaﬁﬂwﬁmw% wmmﬁ@aaﬁvﬁmﬂqﬁ@m forer b §7 Sfedl &1 Serefiar G Werd-¥ed o SR
R (e d o1t € f TaeR, TS, W, AR, Tthal, &d & SiTal # UgddR TS 38 St a1d A1G ®R- &1 HidhT [Hd SITdl 8T | 1 o,
gagw%&mﬁsqwéﬁu‘r%%ummmmvaﬁaﬁﬁﬁﬁﬁwq@ﬁwﬁﬁwﬁ%%ﬁwsﬁ?
X[ &l KT 5?

Sub questions




Question Number : 196 Question Id : 9679471410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T P IR D o T UT?

Options :

1. % el BT Yid T & B

2. % UgISI &I 47 R

3. % fafta gefl ol T

4.« AT BT HEM H 3M1d B fa=ITe ¥ @b

Question Number : 197 Question Id : 9679471411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3w | sfedi fed we1mrg?
Options :

1. % fgHTerd &1

2. ¢ dfeai Bl

3. % U Ui

4. % gl Bl

Question Number : 198 Question Id : 9679471412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ra® Pl DIged MR W 1 FH Udid aIdT 82
Options :

1. ¢ Al &Y STt il 6@ R

2. % Hierdl Bl ¢@ IR

3. % B T DI @ IR

4. % YpHid D TGDR

Question Number : 199 Question Id : 9679471413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
18 U B 1 f9wg &1 riare T8t g |
Options :

1. ¥ YcHl

2. % 3R]

3. % di9d

4. % 3spd

Question Number : 200 Question Id : 9679471414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF 30 ewe afedl & fore RR ¢Ad1 Xgar g2
Options :

1. ¢ fgHTer

2. % g3l gt Afear

3. % s

4. % TIGR



